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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject
(shown in brackets). Based on the data in the table, answer the questions that follow.
Student-wise Percentage of Marks in Six Subjects

Subjects (Maximum Marks)
A (150) | B (100) | C(150) | D (125) | E(75) | F(50)
Anil | 66% | 75% | 88% | 56% | 56% | 90%
Arman | 82% | 76% | 84% | 96% | 92% | 8%
Arpit | 76% | 66% | 78% | 88% | 72% | 70%
Gaurav| 90% | 8% | 96% | 76% | 84% | 86%
Gurjit | 64% | 70% | 68% | 72% | 68% | 74%
Priva | 48% | 56% | 50% | o64% | 64% | 58%

Students

Sub questions



Question Number : 1 Question Id : 87827039516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How many marks did Anil get in all the six subjects together ?

(1) 369
(2) 463
(3) 558
(4) 496

Options :

878270155241. 1
878270155242. 2
878270155243. 3

878270155244. 4

Question Number : 2 Question Id : 87827039517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Total marks obtained in all the six subjects together is more than 490 by exactly students.
(1) two

2
3

4

(2) three

(3) four

(4) five
Options :
878270155245. 1
878270155246. 2
878270155247. 3

878270155248. 4

Question Number : 3 Question Id : 87827039518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

If M and N represent the average marks obtained by all the six students together in subjects C and
E, respectively, then (M, N) =

(1) (112, 56.5)
(2) (114, 55)

(3) (115, 56)

(4) (116, 54.5)
Options :

878270155249. 1
878270155250. 2
878270155251. 3

878270155252. 4

Question Number : 4 Question Id : 87827039519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

together. (rounded off to two digits after decimal)
() 27.35

Marks obtained by Gauravare % more than that of Gurjit in all the six subjects

(2) 2452
(3) 29.45
(4) 2815
Options :

878270155253. 1
878270155254. 2
878270155255. 3

878270155256. 4

Question Number : 5 Question Id : 87827039520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the different between the average marks obtained in subjects A and E by all the six students
together ?

(1) 48

(2) 50

@3) 52

g

Options:

=y

878270155257. 1
878270155258. 2
878270155259. 3
878270155260. 4

Question Id : 87827039515 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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A (150) | B(100) | C(150) | D(125) | E(75) | F(50)
g | 6% | B% | 8% | 56% | 56% | 90%
aoH | 82% | 7% | 8% | 96% | 92% | 88%
afm | 76% | 66% | 78% | 88% | 7% | 70%
ic 90% | 8% | %% | 76% | 84% | 86%
T | 6% | 0% | 68% | T2% | 68% | 74%
fir 48% | 56% | 50% | 64% | 64% | 58%

Sub questions



Question Number : 1 Question Id : 87827039516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
g+t 3% faudi F1 T Ty fHere e &1 faad 3 fae ?

(1) 369
(2) 463
(3) 558
(4) 496
Options :

878270155241. 1
878270155242. 2
878270155243. 3

878270155244. 4

Question Number : 2 Question Id : 87827039517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it 9% formt o e for 0 it o) o e foreet S fae fermfelan 01490 % arfier o et 82

Options :

878270155245. 1
878270155246. 2
878270155247. 3

878270155248. 4



Question Number : 3 Question Id : 87827039518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e M SN, F99: C A, fort & wvit e foranfefdt gro oo v foreramt w7t o 110 ol & i =
TEFIEAMN=_ |

1) (112, 565)

(2) (114,55
(3) (115, 55
(4) (116, 545)
Options :
878270155249. 1
878270155250. 2
878270155251. 3

878270155252. 4

Question Number : 4 Question Id : 87827039519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ol B% forl 1 O WY TR TG g 9 o TS AR A SR A g W %
fv 1 (cera o T & i A ol fo T )
(1) 27.35
(2) 2452
(3) 2945
(&) 2815
Options :
878270155253. 1
878270155254. 2
878270155255. 3

878270155256. 4



Question Number : 5 Question Id : 87827039520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

a5t e forenfeldl ot e T fetet A oiR B fomal & o of & ofvga & weg o o 7

(1) 48
(2) 50
(3) 52
(4) 54
Options :

878270155257. 1
878270155258. 2
878270155259. 3

878270155260. 4

Sub-Section Number : 2
Sub-Section Id : 8782701660
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827039521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following types of assessments would be most beneficial for assessing a student’s
ability to debate ?

(1) Formative Assessment

(2
&
(

Summative Assessment

s

4

) Ipsative Assessment
) Performance Assessment

Options :
878270155261. 1

878270155262. 2



878270155263. 3

878270155264. 4

Question Number : 6 Question Id : 87827039521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
oo 1 et o 9 R a1 e ferrfe o are-fore e A o e F % fa
ol TR ¢/
(1) TR T

Options :

878270155261. 1
878270155262. 2
878270155263. 3

878270155264. 4

Question Number : 7 Question Id : 87827039522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  Edmodo (online tool) helps teachers to stay in touch with parents, share updates
and discuss student progress.

Statement II:  Duolingo is a online language learning platform.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270155265. 1

878270155266. 2

878270155267. 3

878270155268. 4

Question Number : 7 Question Id : 87827039522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155265. 1

878270155266. 2



878270155267. 3
878270155268. 4

Question Number : 8 Question Id : 87827039523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In self-directed learning, metacognitive knowledge includes :
(A) Contextual knowledge

(B) Factual knowledge

(C) Procedural knowledge

(D) Technological knowledge

(E) Practical knowledge

Choose the correct answer from the options given below :

(1) (A), (D) and (E) Only

(2) (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (B) and (D) Only

Options :

878270155269. 1
878270155270. 2
878270155271.3

878270155272. 4

Question Number : 8 Question Id : 87827039523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



- fdfera siferm # sifergamreTs 99 o Aifed €
(A) Haulcas 1

(B) ATHF TH

(C) R s I

(D) HwEfTeR 34

(E) oI I

9 feu o fosredi # | W& SO FGH Hif
() e (A), (D) 3T (E)

(2) 9 (C) 3R (D)
(3) %A (A), (B) 3R (C)
(4) 9 (B) 3R (D)
Options :

878270155269. 1
878270155270. 2
878270155271. 3
878270155272. 4

Question Number : 9 Question Id : 87827039524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which learning sl}fle mvolves the extent to which students approach leamjng materials in a way
that helps them understand the meaning of the materials :

(1)  Surface styles
(2) Impulsivestyles
(3)  Deep styles

(4)  Reflective styles

=y

Options :
878270155273. 1
878270155274. 2

878270155275. 3



878270155276. 4

Question Number : 9 Question Id : 87827039524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
form o $eft # 7 Wi € o fornel o v e e et o o a4 eEa € R 9W ®
T 1 oAl g H e e €7
(1) W ﬁi‘am
2
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Options :
878270155273. 1
878270155274. 2
878270155275. 3

878270155276. 4

Question Number : 10 Question Id : 87827039525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"When competent readers encounter new sentences in their native language, they read them
automatically” is an example of learning ?

(I) High-road transfer

2

Near transter

}

2
(3) Low-road transfer
(4) Far transfer
Options :
878270155277. 1

878270155278. 2



878270155279. 3

878270155280. 4

Question Number : 10 Question Id : 87827039525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155277. 1
878270155278. 2
878270155279. 3

878270155280. 4

Question Number : 11 Question Id : 87827039526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Identify the software used for detecting plagiarism :
(A) Mendley

(B) Turnitin

(C) Compiler

(D) Ithenticate

Choose the correct answer from the options given below :
(I) (A) and (B) Only

() (A), (B) and (C) Only

(3) (A), (B) and (D) Only

(4) (B) and (D) Only

Options:

878270155281. 1

878270155282. 2

878270155283. 3

878270155284. 4

Question Number : 11 Question Id : 87827039526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
aifeferss =1 & 9 &R F AU 5§ 9N S a9 9 F UEEE '
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(C) THHIEeR
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)
(2)
(3)
(4)
Options :

878270155281. 1



878270155282. 2
878270155283. 3

878270155284. 4

Question Number : 12 Question Id : 87827039527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following approaches to the analysis of content is based on the study of signs ?
(1) Semiotics

@)

(3) Content Analysis
)

Ethnography

Quantitative Research

Options :

878270155285. 1
878270155286. 2
878270155287. 3
878270155288. 4

Question Number : 12 Question Id : 87827039527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

foreerareg o forvern o1 Ferferfian m-T1 S W (Ferel) o s W amefia 82
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—

Options:
878270155285. 1

878270155286. 2



878270155287. 3

878270155288. 4

Question Number : 13 Question Id : 87827039528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in correct sequence according to APA style of referencing :
(A) Title of the research article

(B) Year of publication

(C) Name of journal

(D) Name of anthor

Choose the correct answer from the options given below :

(1) (@A) ), (©) D)

@ (&) (©) D) (B)
() @) (A)(©) B
(4 @) (B) (4) ©

Options :

878270155289. 1
878270155290. 2
878270155291. 3

878270155292. 4

Question Number : 13 Question Id : 87827039528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270155289. 1
878270155290. 2
878270155291. 3

878270155292. 4

Question Number : 14 Question Id : 87827039529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It you wish to test whether p[)pulation mean 1 lower than some h}fpnthesized value, you would

apply :

(1) one-tailed test

(2) two-tailed test

(3) half-tailed test

(4)  three-tailed test

Options :

878270155293, 1

878270155294, 2

878270155295, 3

878270155296. 4



Question Number : 14 Question Id : 87827039529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 1 78 W T e & o a0 SHeers e, Teresios M 8 w9 8 @ o feffe o
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Options :

878270155293. 1
878270155294. 2
878270155295. 3

878270155296. 4

Question Number : 15 Question Id : 87827039530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “ante” used inacademic
writing ?
(1) anonymous

(2) before
(3) after
g

s |

4) and others
Options :
878270155297. 1
878270155298. 2
878270155299. 3

878270155300. 4



Question Number : 15 Question Id : 87827039530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬂhﬁ@an@ﬁwmmﬁw@ﬂﬂw‘qﬁ’ (ante) Hi4fE & 319 91 e vfaffme
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Options :

878270155297. 1
878270155298. 2
878270155299. 3

878270155300. 4

Question Number : 16 Question Id : 87827039531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

All forms of communication are evaluated in relation to :
(1) Face to face communication

(2) Radio transmission

(3) Television entertainment
(4) Internet usage

Options :

878270155301. 1
878270155302. 2
878270155303. 3

878270155304. 4



Question Number : 16 Question Id : 87827039531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[l YR % FRIU o Hodich feread W 8 forger gey | foran s ¢ ?
(1) T

(2) fed yERy

(3) TEIA HARSH

(4) T W ITE
Options :

878270155301. 1
878270155302. 2
878270155303. 3

878270155304. 4

Question Number : 17 Question Id : 87827039532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the fs:)llnwing media is often described as ‘one da}r best seller’ ?

(1) Radio

(2) Internet
(3) Novel
(4) Newspaper

Options :

878270155305. 1
878270155306. 2
878270155307. 3

878270155308. 4

Question Number : 17 Question Id : 87827039532 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fr=fafas § @ g dfea & seam w3 ‘o fo7 &1 5w fogpa’ & &0 W fen S 82

(1) e
() TR
(3) S9H
(4) HHER
Options :

878270155305. 1
878270155306. 2
878270155307. 3

878270155308. 4

Question Number : 18 Question Id : 87827039533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Greek rhetorical communication Emphasised on the elements of :

Delayed feedback

B) Lower class language

D) Ethos
E) Pathos

Choose the correct answer from the options given below :

(
(
(C) Logos
(
(

() (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (B) and (D) Only
4) (©), (D) and (E) Only

Options:
878270155309. 1

878270155310. 2



878270155311. 3

878270155312. 4

Question Number : 18 Question Id : 87827039533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT SrRTZargul Yol H foRe qeell 9wl T s o ?
(A) Taafaed gfaqfee (feere wieds)

(B) =1 =i =1 v

(C) W (T

(D) =R (Eo7H)

(E) h&W W (U9i9)

1 feu T fasredi § € W@ SO #1999 FN

(1) %9 (A), (B) 3R (C)
(2) %99 (B), (C) ¥R (D)
(3) &F9A (A), (B) IR (D)
(4) 9 (C), (D) ¥R (E)

Options :

878270155309. 1
878270155310. 2
878270155311.3

878270155312. 4

Question Number : 19 Question Id : 87827039534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : ~ When passive defence systems are encouraged, a defensive response will resist
attitudinal change, if we apply the inoculation theory of communication.

Statement I1; A strong dose of argument will strengthen the receiver’'s immune system.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270155313. 1

878270155314. 2

878270155315. 3

878270155316. 4

Question Number : 19 Question Id : 87827039534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155313. 1

878270155314. 2



878270155315. 3

878270155316. 4

Question Number : 20 Question Id : 87827039535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Through feedback, students can later critique their own communication
competence outside the classroom.

Statement II:  Motivational orientation towards communication should be identified by teachers
to better the communication competence of the students.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270155317.1

878270155318. 2

878270155319. 3

878270155320. 4

Question Number : 20 Question Id : 87827039535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FIﬁaWﬁ'QﬂT{%‘:
TR (1): Vel (Treas) & meam g, 3 o W e W AT S O ) e 1 T g
el

T (1) e gm0 w9Tm % oo aHfirRomers sfvweEm #1 wan # 9 ak afE om 5
Y 47 oF B

TG o & e H, A fou T foeredt # 4 W S T A

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) 1 HA ¢, Cifé e 11 997 2

(4) U1 H &, A FAHA &

Options:

878270155317. 1
878270155318. 2
878270155319. 3

878270155320. 4

Question Number : 21 Question Id : 87827039536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A person travels 365 km in 8 hours in two stages. In the first part of the journey, he travels by bus
at the speed of 40 km/hour and in the second part of the joumey, he travels by train at the speed
of 55 km/hour. How much distance did he travel by train ?

) 165 km
) 170 km
) 200 km
) 164 km

Options :
878270155321. 1
878270155322. 2

878270155323. 3



878270155324. 4

Question Number : 21 Question Id : 87827039536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T el <) 000 § Wi W 365 ot o A0 T € | U S A i 40 TR/ R T § 9 g
7 0 € 70 T 1 G o g 55 R A i A A A R | 3 A g Fre A
(1) 165 fot

2) 170 fereit
3) 200 foret

4) 164 ferri
Options :
878270155321. 1
878270155322. 2
878270155323. 3

878270155324. 4

Question Number : 22 Question Id : 87827039537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the average of 10 numbers is 40 and the average of six of them is 28, then the average of the
remaining four numbers is :

(1) 52

(2) 54
(3) 56
(4) 58

s

Options :
878270155325. 1

878270155326. 2



878270155327. 3

878270155328. 4

Question Number : 22 Question Id : 87827039537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o 10 Femell 1 399 40 € 741 370 | T &1 ol 28 €, 3 99 =R gemsd 1 sfed o a2
(1) 52

2) 54
3) 56
) 58

"

(
(4
Options :

878270155325. 1
878270155326. 2
878270155327.3

878270155328. 4

Question Number : 23 Question Id : 87827039538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

¥ 3080 is divided among A,B and C so that half of A's part, one third of Bs part and one sixth of
C's part are equal. Then B's part is

(1) ¥ 840

(2) %90
(3) ¥ 1080
(4) 72

Options :
878270155329. 1

878270155330. 2
878270155331. 3



878270155332. 4

Question Number : 23 Question Id : 87827039538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3080 AB AR CH 3 AR aa S 2 A% 5 o B ¥ foed o vor-ford qwn O % o
&1 Tl T a0 &, A F e &

(1) T840

(2) %90
(3) 1080
(&) %70
Options :
878270155329. 1
878270155330. 2
878270155331. 3

878270155332. 4

Question Number : 24 Question Id : 87827039539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the values of P and in the [o]lawing number series ?

2, 8 o, 0y 12 28, PuCl i

(1) 48, 96
2) 20, 60
(3 12,120
(4) 48, 50
Options :

878270155333. 1
878270155334. 2

878270155335. 3



878270155336. 4

Question Number : 24 Question Id : 87827039539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefafea sie gEen § P IR Q 1 7F 71 8m 2
2,0,6,6,12,24, P, Q, ccovvvvveeee...

(1) 48, 96
(2) 20, 60
(3) 12, 120
(4) 48, 50
Options :

878270155333. 1
878270155334. 2
878270155335. 3

878270155336. 4

Question Number : 25 Question Id : 87827039540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A’ sells an article to ‘B at 20% profit. ‘B’ sells it to “C" at 15% loss. If ‘C" pays ¥ 510 for it, then ‘A’

purchased it at :

(1) 480

(2) 490

(3) T 500

(4) %520
Options :
878270155337. 1
878270155338. 2

878270155339. 3



878270155340. 4

Question Number : 25 Question Id : 87827039540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘A" Tl 1B I 20% T WS € 1 ‘B TR C o 15% B Wi € | A’ C A 3 for 2510
o1 ST fere, 1A 7 98 Fove o ey o2
(1) T480
(2) %490
(3) %500
(&) T520
Options :
878270155337. 1
878270155338. 2
878270155339. 3

878270155340. 4

Question Number : 26 Question Id : 87827039541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing abstractness :
(A) Mobile Telephone

(B) Android Phone

(C) Communication device

(D) Telephone

Choose the correct answer from the options given below :

(L) (®), (A), (D), Q)

(2) (®), (D), (A), (©)

(3) (©), (D), (A), (B)

4 (O, (A), (B), (D)

Options :



878270155341. 1
878270155342. 2
878270155343. 3

878270155344. 4

Question Number : 26 Question Id : 87827039541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fefcftaa gl 1 Ffeead/sTHad & 9ed %H H Haikyd S
(A) HIEEA SEHA

(B) U WM
(C) IR ITHI
(D) ZEHH

= feu v fasredi § 9 9 3T 1 =994 S0 -
() (B), (A), (D), (©)

(2) (B), (D), (A), (©)

(@) (©), (D), (A), (B)

(4) (©), (A), (B), (D)

Options :

878270155341. 1

878270155342. 2

878270155343. 3

878270155344. 4

Question Number : 27 Question Id : 87827039542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No metals are gases

(B) No gases are metals
(C) No metals are non-gases
(D) All metals are non-gases

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (©) and (D) Only

(4) (A) and (B) Only

Options:

878270155345, 1

878270155346. 2

878270155347. 3

878270155348. 4

Question Number : 27 Question Id : 87827039542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 2 ¥ FeA qifthed 9 9 97 & 2
(A) g off g Ty e @

(B) I oft g urg 7 ©

(C) wIZ off arg Te-Trm e &

(D) Toft agd T €

= feu v fasredi § 9 | 3O & =94 iU -
(1) = (A), (B) ¥R (D)

(2) % (A), (B) 3R (C)
(3) dd (B), (C) ¥R (D)
(4) FIA (A) 3R (B)

Options :



878270155345. 1
878270155346. 2
878270155347. 3

878270155348. 4

Question Number : 28 Question Id : 87827039543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"All phenomena in the universe are saturated with moral values. Therefore, we can conclude that
the universe for the Chinese is a moral universe”. Which informal fallacy is committed in the above
statement ?

(I)  Slippery Slope

(2) Begging the Question

(3) Hasty Generalisation

(4) Fallacy of Composition

Options :

878270155349. 1

878270155350. 2

878270155351. 3

878270155352. 4

Question Number : 28 Question Id : 87827039543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
"Rt H R TR At T 8 W (FER) O ¢ | e e e e ek & 6 i %
me#ﬁﬁﬁm%w T F | B T ST T A e
) (e Fer
(2) A A
(3) ot qHE
(4) wefagm




Options :

878270155349. 1
878270155350. 2
878270155351. 3
878270155352. 4

Question Number : 29 Question Id : 87827039544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logica]lyF equiualent to the statement “All beverages are
liquid" ?
(I)  All non-liquids are non-beverages.

2

Some beverages are liquid.

2
(3)  Allliquids are beverages.
g

}

Some ]11 uids are bevera ages.

Options:

878270155353. 1
878270155354. 2
878270155355. 3
878270155356. 4

Question Number : 29 Question Id : 87827039544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gl T e B B - freifatEd B § B T e e ¥ Y 38 FH F I §
1) 94 T-gd M-T 8 & |

) %9 T 7 e

) T Z I E

) F9 7 WA



Options :

878270155353. 1
878270155354. 2
878270155355. 3
878270155356. 4

Question Number : 30 Question Id : 87827039545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallatious, as per classical Indian school of logic, because of
the middle term being too narrow ?

(I)  All things are non-eternal because they are knowable

(2
3
(4

) The hill has fire because it is knowable
) Sound is eternal because it is audible

) Wherever there is fire, there is smoke
Options:

878270155357. 1

878270155358. 2

878270155359, 3

878270155360. 4

Question Number : 30 Question Id : 87827039545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R W = T 3 o frefetan 8 4 B0 1 9 g € i T v e S e
A ?

(1) T o - € e | 3

NIRERE UL Rk
(3) %A Ve & il 78 94 &
() e amE T g g
Options:
878270155357. 1
878270155358. 2
878270155359. 3

878270155360. 4

Question Number : 31 Question Id : 87827039546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I+ (0.5625);, = (09),,
Statement I:  (0.3),, = (0.4BBB....);

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270155361. 1

878270155362. 2

878270155363. 3

878270155364. 4

Question Number : 31 Question Id : 87827039546 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FIT (D) : (0.5625);, = (0.9)4,
FYA (1) : (0.3);, = (0.4BBB.....)(
IR FYA & 3k H, A f9u 7 faskedi § | W& I T Hi

(1) IR FHAT IS 6 ©

() YT R YA T IFH €

(3) YR I HH T, Al HUTIL 370 B
(4) HITIHHA B, WAl AT A €
Options :

878270155361. 1
878270155362. 2
878270155363. 3

878270155364. 4

Question Number : 32 Question Id : 87827039547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following acronyms is incorrectly matched with its expanded form ?
(1) IMPRINT - Impacting Research, INnovation and Technology
2) BHIM - BHarat Interface for Money

3) UMANG - Unified Mobile Application for New age Generation
4) PayTM - Pay Through Mobile

(
(
(
Options:

878270155365. 1
878270155366. 2
878270155367.3

878270155368. 4



Question Number : 32 Question Id : 87827039547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafed 4 § sm-49 dferaer #1359 foga ¥ 9 faem Tod €2
(1) 2w (IMPRINT) — SR @ gHrewH Ug s

) o (BHIM) — YRd 32059 BR A

) SHT (UMANG) — FfTHIEE HieTgel Terhym %R =J-Ts SReH
) YeH (PayTM) — ¥ ¢ HEmEA

Options :

878270155365. 1

878270155366. 2

878270155367. 3

878270155368. 4

Question Number : 33 Question Id : 87827039548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements in the context of digital technnlogies for entertainment :

Statement I :  In virtual reality, images generated from a computer are projected onto real life
objects or surroundings.

Statement Il :  In augmented reality, a simulated environment is created and the physical world
is completely shut out,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options:



878270155369. 1
878270155370. 2
878270155371. 3

878270155372. 4

Question Number : 33 Question Id : 87827039548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7% ) o fem T § ;oo Wi fefoem eif & g o

T (I): ST ARl H PG T Bl ) oo S /% A A1 ed R JEE
fepe o %

T (1) ; At arfod § ST Tiew S o o § o i SOl w% 9
IE |

I F & e B, 7 fou o fawed § 9 W I T S

(1) FRIIR FAA I T &

() RSN BRI S 59 ¢

(

(

e

) Y [ F E, WA O 11 9
4) ] A T, TR o 1

¥

Options :

878270155369. 1
878270155370. 2
878270155371.3

878270155372. 4

Question Number : 34 Question Id : 87827039549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When wa l'dling videos from a web site using streaming teclmology, which of the fnllowing will be
mvolved ?

(A) DNS

(B) FIP

C) IP

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

W () @ and (O

Options :

878270155373. 1

878270155374. 2

878270155375. 3

878270155376. 4

Question Number : 34 Question Id : 87827039549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TR o1 ST R g0 deree B fafed San wg frefefen § @ @9 @ wive §2
(A) STy

(B) A

Q) Y

4 feu U fosredi | 6 W& S 9 I

(1) 9aa (A) & (B)
(2) FFa (A) 3R (C)
() @A (B) M (C)
@ () @ RQ)

) (
) (
)
4)

Options :
878270155373. 1
878270155374. 2



878270155375. 3

878270155376. 4

Question Number : 35 Question Id : 87827039550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List - II
(Question) (Answer)

(A) How many ones are there in the binary representation (I) 13
of the decimal number 512 ?

(B) If1KiloByte = 2* bits, then what is the value of x ? (I) 20

(C) What hexadecimal value is obtained when the two (II) 1
hexadecimal digits A and B are added together ?

(D) What is the denary (base 10) value of the binary (IV) 15
number 00010100 ?

Choose the correct answer from the options given below :

(1) (AL), BHLV), (O-(0), D)-(I)

(2) (AL, (B)-(I), (C-(1V), (D))
(3)  (A)MI), (B}-(IIL), (C}-(II), (D)-(IV)
(4) (AN, B)-(1), (CHIV), (DHI)
Options :

878270155377. 1
878270155378. 2
878270155379. 3

878270155380. 4

Question Number : 35 Question Id : 87827039550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 9 Eit-11 1 fifer i

lt-1 -1

T £ty
(A) TWEE H&A 512 & fg-onyr wlemm W fFa R wEE? () 13
(B) 1 feralarze = 2 faeq &, @ x &1 WF 1 & ? (I 20
(C) @ 3 UISY-SH FeAl A 3R B I WY SEl (I 1

o A e 2 e e e 1 e A
(D) fgamar F&n 00010100 1 g9k A9 A F=EM? (V) 15
A1 fou 7o foeredl § @ W@ SO A 99 Ff

(1) (AR, (B)LV), (CHD), (DHI)
(2 (A, B)-1), (C-(1V), (D)-{10)
() (I), (B)-(I1I), (C)-(LT), (D)-(IV)
( ( ()

(A
(A
4) (A, (B)-(D), (CHIV), (DI

)
A)-
Options :
878270155377. 1
878270155378. 2
878270155379. 3

878270155380. 4

Question Number : 36 Question Id : 87827039551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In air pollution, oxides of nitrogen (NOx) include :

(A) Nitric oxide

(B) Nitrous oxide

(C) Nitrogen dioxide

(D) Di-nitrogen trioxide

(E) Di-nitrogen penta oxide

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(@ (A)and (C) Only
(3) (B), (C) and (D) Only
@) (D)and (E) Only

Options:

878270155381. 1
878270155382. 2
878270155383. 3

878270155384. 4

Question Number : 36 Question Id : 87827039551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST JEUO H, eSS & SfEEEEd (NOx) # wfha €
(A) TEfeF HAlaHrEe

(B) TEZH SRS

(C) EEISH SReAES

(D) SEIEISE TR RS

(E) STE-TiEge el SRS

< feu T fasedi § 9 War SO o 999 FIfT
(1) &aa (A), (B) 3R (C)

(2) FaE (A) 3R (C)
(3) & (B), (O) iR (D)
(4) %9 (D) R (E)
Options :

878270155381. 1
878270155382. 2
878270155383. 3

878270155384. 4

Question Number : 37 Question Id : 87827039552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Increasingly, photovoltaic panels are being used to supplement electrical energy
from the power grid.

Statement I :  The compatibility of photovoltaic panels with power grid is also because it produces
Direct Current (DC).

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270155385. 1
878270155386. 2
878270155387. 3
878270155388. 4

Question Number : 37 Question Id : 87827039552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 3 FA UM E

TR (1) OIS ¥ o 59 6 SR o o ) e T o 9w W 9 2 1 W &

FUR (I1) : T ire o T W v S v gefene o € i T fom em () T
kS

I Fo o e, 3 fou T feeredt # ¥ Wl S T i

1) YR 13 BRI 3 7§

) YR 1 3R R 11 G e §

) W1 T €, T w11 5 ¢

4) HIR 1S €, TR KO ¢

=]

(
(
(
(

Options:

878270155385. 1
878270155386. 2
878270155387. 3

878270155388. 4

Question Number : 38 Question Id : 87827039553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Rising nutrient levels in a lake change the numbers and types of biota present
there.

Statement I ; Eutmphic lakes non:na]l}F have clear water and contain little biomass.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270155389. 1

878270155390. 2

878270155391. 3

878270155392. 4

Question Number : 38 Question Id : 87827039553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%@Wﬁ,’qw%:
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Options :

878270155389. 1

878270155390. 2

878270155391. 3



878270155392. 4

Question Number : 39 Question Id : 87827039554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  The detrimental impacts of air pnllution are not limited to human health 0111}!.

Statement I :  Fluorine emitted in the air from various industrial processes has signi[icant
phytotoxicological effects.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270155393. 1

878270155394. 2

878270155395. 3

878270155396. 4

Question Number : 39 Question Id : 87827039554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270155393. 1

878270155394. 2

878270155395. 3

878270155396. 4

Question Number : 40 Question Id : 87827039555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(Hazard related term) (Description)
(A) Risk (I)  Actions to mitigate losses
(B) Exposure (I)  Frequency of events causing losses
(C) Vulnerability (II) Magnitude of population and structure at risk
(D) Response (IV) Degree of preparedness
Choose the correct answer from the options given below :
(1) (A, ()(lﬂ) (C-LV), (D)
(2) (A, (B)-(1D), (©-LV), (D)}-0)
() (AR, ( )(UD (©-(l), (D)-(IV)
(4)  (AMI), (B}, (©)-{L), (DHLV)
Options:

878270155397. 1



878270155398. 2
878270155399. 3

878270155400. 4

Question Number : 40 Question Id : 87827039555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i1 9 Geft-11 1 e i
eI G-I
(v et ug) (i)
(A) TEw () THEH H FA F F fo Fare
(B) IR () TS T Tl SIS 1 TRaR
(C) ¥ (II) SHfEm Ja Srrel S G= i 9w
(D) 3R (IV) ARt i w
el feu 0 foeredl H § |E I 1 957 HifC ;
(1) (AR, B)-I), [©)-IV), (D)-1)
(2) (A, B)-IT), ©)-{IV), (D)-0)
(3) (AN, B)-(L), ©)-1), (D)-1V)
(4) (A, (B)ID), (©)-I), (D)-(V)
Options :

878270155397. 1
878270155398. 2
878270155399. 3

878270155400. 4

Question Number : 41 Question Id : 87827039556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The policy of privatisation of higher education began with the introduction of :
(1) Fourth five year plan

(2)  Sixth five year plan

(3) Eighth five year plan

(4) Tenth five year plan

Options:

878270155401. 1

878270155402. 2

878270155403. 3

878270155404. 4

Question Number : 41 Question Id : 87827039556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

=a foen % fsfierr &t ifa form s & 9% 89 | ey =i mé 2
(1) =iefi deedtE Fe

(2) BB T A

(3) edl g=Edt A

(4) THE gEEUE A
Options :

878270155401. 1
878270155402. 2
878270155403. 3

878270155404. 4

Question Number : 42 Question Id : 87827039557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Science education in India was first started in Calcutta in 1817 at :
(I) Surendranath college

(2)  Ashutosh Mukherjee college
(3) St Xavier college

(4) Hindu college

Options:

878270155405. 1
878270155406. 2
878270155407. 3

878270155408. 4

Question Number : 42 Question Id : 87827039557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wﬁﬁaﬂﬁﬁmﬁuwaﬁwl?ﬁw Y g ieret H Y& & off?

(2) ST TG Hc
(3) He SR Hiers

(4) fog #cs

Options :

878270155405. 1
878270155406. 2
878270155407. 3

878270155408. 4

Question Number : 43 Question Id : 87827039558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The idea of a national education system in India could get ﬁllip with the transfer of control of
education in 1921 to :

(1)  The British Viceroy

2

(2) Indian ministers of provinces
(3)  The Christian missionaries

4)  European elite
Options:

8782701554009. 1
878270155410. 2
878270155411. 3

878270155412. 4

Question Number : 43 Question Id : 87827039558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 1921 5 9Ra ¥ T2 e vgfa o formm i ween fuen & fm o sfafa foe om § e ?

(1) fafen amem
(2) I o RAE
(3) e frri

(4) 709 % e s
Options :

8782701554009. 1
878270155410. 2
878270155411. 3

878270155412. 4

Question Number : 44 Question Id : 87827039559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following universities were established in the same year of 1916 ?
Bombay University

B) Banaras Hindu University

D) SN.DT Women University

E) Punjab University

(
(
(C) Mysore University
(
(

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(

(2) (B), (C) and (D) Only
(3) (Q), (D) and (E) Only
(4) (A), (C) and (E) Only
Options:

878270155413. 1
878270155414. 2
878270155415. 3

878270155416. 4

Question Number : 44 Question Id : 87827039559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § 9 fea-fe favafaemeai @1 wemom ad 1916 ® & g8 ot ?
(A) il e

(B) ARH feg favafamma

(C) g Ffrafde

(D) W T & & e P

(E) Ysie faveiamme™

= feu 7o fasredi § 9 WE SO 1 =91 FISU
(1) A (A), (B) &R (C)

(2) = (B), (C) ¥R (D)

(3) e (C), (D) ¥R (E)

(4) FE (A), (C) &R (B)

Options :

878270155413. 1

878270155414. 2

878270155415, 3

878270155416. 4

Question Number : 45 Question Id : 87827039560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  [fbig corporate houses establish universities in India, quality professional training
and education can be given to students.

Statement I1: Itis expecl‘ed that universities and institutes established b}f corporate houses will
be world leaders in education.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct



Options :

878270155417. 1
878270155418. 2
878270155419. 3
878270155420. 4

Question Number : 45 Question Id : 87827039560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270155417. 1
878270155418. 2
878270155419. 3

878270155420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701661
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827039561 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.

When faced with danger, animals wam others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and ‘teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,
Whales and dolphins are sometimes called the ‘musicians of the sea’ as birds are of the sky.

Sub questions

Question Number : 46 Question Id : 87827039562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Animals use sounds to :

(A) Advertise teritory

(B) Warn of dangers

(C) Call their mates

(D) Invite their enemies

(E) Inform others about source of food

Choose the correct answer from the options given below :

() (B), (C) and (D) Only

(2) (A), (B) and (C) Only
(3) (A), (B), (C) and (E) Only
(4) (C), (D) and (E) Only

Options :



878270155421. 1
878270155422. 2
878270155423. 3

878270155424. 4

Question Number : 47 Question Id : 87827039563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the various ways in which animals communicate with one another ?
Sr:mg and dance

(

(B) Speech

(C) Signs

(D) Sounds

(E) Words

Choose the correct answer from the options given below :

(1) (C), (D) and (E) Only

(2) (A), (B) and (E) Only
(3) (A) ( ) ’illd( )Olll}’
4) (A) and (B) Only
Options :

878270155425. 1
878270155426. 2
878270155427. 3

878270155428. 4

Question Number : 48 Question Id : 87827039564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The musicians of the sky are :
(1) Walruses
(2) Animals

(3) Dolphins
(4) Birds
Options:

878270155429. 1
878270155430. 2
878270155431. 3
878270155432. 4

Question Number : 49 Question Id : 87827039565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Ultrasonic sounds’ are sounds which are :
Liked b}r humans

2

Disliked by humans

=

EZ; Audible to humans
(3)

(4) Inaudible to humans
Options :

878270155433. 1

878270155434. 2
878270155435. 3

878270155436. 4

Question Number : 50 Question Id : 87827039566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Sharks and crocodiles are called the musicians of the sea.
Statement I ; Bab}f birds cannot express their needs.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4)  Statement I is incorrect but Statement II is correct
Options :

878270155437. 1

878270155438. 2

878270155439. 3

878270155440. 4

Question Id : 87827039561 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Question Number : 46 Question Id : 87827039562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

u3] %af =1 9T R 389 o fore #d €2

(A) Y- F oI | 2= 991ed o1 SR 24 F foau
(B) W I =l o @ fow

(C) &9 Sfiad Fieft 1 el ok o

(D) 3199 YA HI HAT FA o g

(E) <O &1 95 & € & =i § giad #31 & fau
= fau o fasredi § | WE SOR 1 =9 S
(1) %9 (B), (C) 3R (D)

(2) 9 (A), (B) 3R (Q)

(3) I (A), (B), (C) 3R (E)

(4) 9 (O), (D) 3R (E)

Options :

878270155421. 1

878270155422. 2

878270155423. 3

878270155424. 4

Question Number : 47 Question Id : 87827039563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) T SR T

(B) @mf

(C) Hehd
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4 few U foeredi © | TE IR F =977 FC
(1) %9 (C), (D) ¥R (E)

(2) %9d (A), (B) 3R (E)

(3) #=d (A), (C) ¥R (D)

(4) FAA (A) IR (B)

Options :

878270155425. 1

878270155426. 2

878270155427. 3

878270155428. 4

Question Number : 48 Question Id : 87827039564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I F GIAHEN € ;
(1) H=elH

(2 W

(3) EieEHA

(4) Teff

Options :

878270155429. 1
878270155430. 2

878270155431. 3



878270155432. 4

Question Number : 49 Question Id : 87827039565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘mgen s U st € W
(1) W\ gR 99 1 S ¢ |

(2) TSl ERI 4 Bt

(3) WAl gHI AYHE i Sl € |
(4) HIH BRI 3 FA Bl € |
Options :

878270155433. 1
878270155434. 2
878270155435. 3

878270155436. 4

Question Number : 50 Question Id : 87827039566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:



878270155437. 1
878270155438. 2
878270155439. 3

878270155440. 4

Anthropology
Section Id : 878270923
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701662
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 51 Question Id : 87827039567 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



F. E. Johnston and K.M. Kensinger (1971) included the component I

intensity. Here [ is obtained as :

et the estimation of selection

(1) Ratio of proportion of embryonic and fetal death and proportion of live births

(2) Ratio of proportion of fetal death and live births

(3) Ratio of proportion of embryonic death and live births

(4)  Ratio of proportion of embryonic and fetal death and proportion of offspring surviving beyond

15 years
Options:
878270155441. 1
878270155442. 2
878270155443. 3

878270155444. 4

Question Number : 51 Question Id : 87827039567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270155441. 1
878270155442. 2
878270155443. 3

878270155444. 4

Question Number : 52 Question Id : 87827039568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In which of the marital unions, the coefficient of consanguinity is likely to be the least ?
(1)  Half first cousin marriage

(2)  First cousin marriage
(3) Second cousin marriage
(4) Parallel cousin marriage
Options :

878270155445. 1
878270155446. 2
878270155447. 3

878270155448. 4

Question Number : 52 Question Id : 87827039568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155445. 1
878270155446. 2
878270155447. 3

878270155448. 4

Question Number : 53 Question Id : 87827039569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements is not correct for lymphoid growth curve ?

(I)  The lymphoid curve describes the growth of lymph glands, thymus glands and tonsils

(2) Lymphatic tissues show rapid growth during infancy and childhood, reaching a maximum
at about 11 to 13 years of age

(3) Children have, on a relative basis about thrice as much as lymphoid tissue as they have as
adults

(4)  The decline of lymphoid curve during the second decade of life is related to the involution
(shrinking) of the thymus and tonsils at this time

Options:

878270155449. 1

878270155450. 2

878270155451. 3

878270155452. 4

Question Number : 53 Question Id : 87827039569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155449. 1

878270155450. 2

878270155451. 3

878270155452. 4

Question Number : 54 Question Id : 87827039570 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a positively skewed distribution :

(1)  The mean value is the highest compared to mean and modal values
(2) The modal value is the highest compared to mean and median values
(3)  The median value is the highest compared to mean and modal values
(4) Mean and median values are the same

Options :

878270155453. 1

878270155454. 2

878270155455. 3

878270155456. 4

Question Number : 54 Question Id : 87827039570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270155453. 1
878270155454. 2
878270155455. 3

878270155456. 4

Question Number : 55 Question Id : 87827039571 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of digital triradii are :

(1) 4
(2 3
3 >
(4) 2
Options :

878270155457. 1
878270155458. 2
878270155459. 3

878270155460. 4

Question Number : 55 Question Id : 87827039571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fefsreat -l =t gem ©

(1) 4
(2) 3
(3) 5
(4) 2
Options :

878270155457. 1
878270155458. 2
878270155459. 3

878270155460. 4

Question Number : 56 Question Id : 87827039572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Research in anthropometry, dynamometry and functional anatomy provided some impetus for
establishing the science of :

(I) Ergonomics

(2) Biomedical anthropometry

(3) Kinanthropometry

(4)  Forensic anthropology

Options:

878270155461. 1

878270155462. 2

878270155463. 3

878270155464. 4

Question Number : 56 Question Id : 87827039572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) T

Options :

878270155461. 1
878270155462. 2
878270155463. 3
878270155464. 4

Question Number : 57 Question Id : 87827039573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a serum protein ?
(1) Transferrin

(2) Serum albumin

(3) Haptoglobin

(4) Go6PD

Options:

878270155465. 1

878270155466. 2

878270155467. 3

878270155468. 4

Question Number : 57 Question Id : 87827039573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafaa o | 31 919 9eH 96 © 7
(1) 2w

(2) R e

(3) eRFdfe

(4) S 6O

Options :

878270155465. 1
878270155466. 2
878270155467. 3

878270155468. 4

Question Number : 58 Question Id : 87827039574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



While Total Fertility Rate (TFR) is probably the most useful measure of fertility, it is a poor measure
of population growth since it does not take into account

(1) Mortality rate

(2) Migration rate

(3)  Adolescent sterility rate

(4)  Pre-adolescent mortality rate

Options:

878270155469. 1

878270155470. 2

878270155471. 3

878270155472. 4

Question Number : 58 Question Id : 87827039574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

8782701554609. 1
878270155470. 2
878270155471. 3

878270155472. 4

Question Number : 59 Question Id : 87827039575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following groups of primates do not perform arboreal quadrupedalism ?
(1) Dwarf Bush-baby

(2) Potto

(3)  Squirrel monkey

(4) Pig-tailed monkey

Options:

878270155473. 1

878270155474, 2

878270155475. 3

878270155476. 4

Question Number : 59 Question Id : 87827039575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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(1)

(2)
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Options :

878270155473. 1
878270155474. 2
878270155475. 3

878270155476. 4

Question Number : 60 Question Id : 87827039576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fﬂ]li}wing somatotypes can be considered to be mesamnrph ?

(1) 7-3-1
2) 262
(3) 6-2-2
(4) 3-2-7
Options:

878270155477. 1
878270155478. 2
878270155479. 3
878270155480. 4

Question Number : 60 Question Id : 87827039576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafea § 4 foeg wifas g&9 =1 JisarE o s 9T € ?

(1) 7-3-1
(2) 2-6-2
(3) 6-2-2
(4) 3-2-7

Options :

878270155477. 1
878270155478. 2
878270155479. 3
878270155480. 4

Question Number : 61 Question Id : 87827039577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the bone ‘conoid tubercle’ is present ?
(1) Radius

(2) Ulna

(3) Clavicle

(4) Scapula
Options:

878270155481. 1
878270155482. 2
878270155483. 3

878270155484. 4

Question Number : 61 Question Id : 87827039577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Tt e1feer o FATrE TgEde faede B © 2
(1) ey (afE yeriftasn)
(2) ST (3d: YehIftae)
(3) FAfahe ()
(4) THgeN (T
Options:
878270155481. 1
878270155482. 2
878270155483. 3
878270155484. 4

Question Number : 62 Question Id : 87827039578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing sites is not associated with the fossil remains of Hono erectus ?
(1) Olduvai

(2) Sambungmacan
(3) Gowngwangling
(4) Amud
Options:
878270155485. 1
878270155486. 2
878270155487. 3

878270155488. 4

Question Number : 62 Question Id : 87827039578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfefad § 9 # T e e 2 Waed & Sany SNy § 993 Te ¢ 2
(1) oegeR

(2) HET e
(3) I ST
(4) TS
Options :

878270155485. 1
878270155486. 2
878270155487. 3
878270155488. 4

Question Number : 63 Question Id : 87827039579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is not the job of a genetic counsellor ?
(I) To help identify families at possible risk of a genetic condition

(2) To analyse family history and inheritance pattern
(3) To provide therapeutic support
(4) To provide information about genetic testing and related procedures

Options:

878270155489. 1
878270155490. 2
878270155491. 3

878270155492. 4

Question Number : 63 Question Id : 87827039579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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(

878270155489. 1
878270155490. 2
878270155491. 3

878270155492. 4

Question Number : 64 Question Id : 87827039580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the classification of H.H. Risley of the Indian populations, which of the group does
not represent the Scytho-Dravidian ?

(1) Maratha Brahmin

(2) Coorgis

(3) Paniyans

(4) Kunbis

Options:

878270155493. 1

878270155494. 2

878270155495. 3

878270155496. 4

Question Number : 64 Question Id : 87827039580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270155493. 1
878270155494. 2
878270155495. 3
878270155496. 4

Question Number : 65 Question Id : 87827039581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In the year 1976, Phyllis Eveleth and J. M. Tanner authored the book ‘World Wide Variation in
Human Growth'. The book is based on detailed descriptions of growth in populations from, or
descended from :

(I) Europe, Asia, Africa, Australia and America
(2) Europe, Asia, Africa and America

(3) Asia, Africa and America

(4) Europe, Africa and America

Options :

878270155497. 1

878270155498. 2

878270155499. 3

878270155500. 4

Question Number : 65 Question Id : 87827039581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
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878270155497. 1
878270155498. 2
878270155499. 3

878270155500. 4

Question Number : 66 Question Id : 87827039582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Focus group discussions are conducted in anthropological studies to :

(I) Bring a consensus among group members

(2) For establishing rapport with the group for enabling further interviews
(3) As a substitute for PRA and RRA

(4) To arrive at the range of variation in the response of the group
Options :

878270155501. 1

878270155502. 2

878270155503. 3

878270155504. 4

Question Number : 66 Question Id : 87827039582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155501. 1
878270155502. 2
878270155503. 3

878270155504. 4

Question Number : 67 Question Id : 87827039583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A study that attempts to derive general propositions that will hold for a number of cases rather
than one case is called :

(I) Ideographic
(2) Nomothetic

(3) Extended case study
(4)  Hypothetico-deductive
Options :
878270155505. 1
878270155506. 2
878270155507. 3

878270155508. 4

Question Number : 67 Question Id : 87827039583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155505. 1
878270155506. 2
878270155507. 3

878270155508. 4

Question Number : 68 Question Id : 87827039584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kumbapettai village in Tanjore district of Tamil Nadu was studied by :
(1) Alan Beal

(2) Andre Beteille

(3) John P. Mencher

(4) Kathleen Gough

Options :

8782701555009. 1

878270155510. 2

878270155511. 3

878270155512. 4

Question Number : 68 Question Id : 87827039584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) T e
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(3) W W HER

(4) HIAH TE
Options :

8782701555009. 1
878270155510. 2
878270155511. 3

878270155512. 4

Question Number : 69 Question Id : 87827039585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Pre testing and pilot study are important components of research design. These are important for
enhancing the :

(I) Reliability of the data collection

(2) Validity of the research tools

(3)  Objectivity of the researcher

(4) Falsifiability of the findings

Options :

878270155513. 1

878270155514. 2

878270155515. 3

878270155516. 4

Question Number : 69 Question Id : 87827039585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270155513. 1
878270155514. 2
878270155515. 3

878270155516. 4

Question Number : 70 Question Id : 87827039586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Scarlet Epstein conducted a study that involved :

(1) Impact of irrigation facility on socio-economic life of village

(2)  Tracing out the processes of rehabilitation of displaced persons

(3) Study of impact of excise policy of the government on land owning communities
(4) Study of community development programmes

Options :

878270155517. 1

878270155518. 2

878270155519. 3

878270155520. 4

Question Number : 70 Question Id : 87827039586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155517. 1
878270155518. 2
878270155519. 3

878270155520. 4

Question Number : 71 Question Id : 87827039587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is the author of the book titled ‘'The Origin of Family, Private Property and the State’ ?
(1) L. H. Morgan

(2) E B. Tylor

(3) Henry Maine

(4) F.Engels

Options:

878270155521. 1

878270155522. 2

878270155523. 3

878270155524. 4

Question Number : 71 Question Id : 87827039587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155521. 1
878270155522. 2
878270155523. 3

878270155524. 4

Question Number : 72 Question Id : 87827039588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Theoretical samp]j_ng and theoretical saturation are parts of :
(1) Functional Theory

(2) Grounded Theory

(3) Focus Group Discussion
(4) Structural Theory
Options:

878270155525. 1
878270155526. 2
878270155527. 3

878270155528. 4

Question Number : 72 Question Id : 87827039588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155525. 1
878270155526. 2
878270155527. 3

878270155528. 4

Question Number : 73 Question Id : 87827039589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who defined culture circle as “a culture complex which embraces all the essential and necessary
categories of human nature” ?

(1) M.]. Herskovits

(2) A. L Kroeber

(3)  Wilhelm Schmidt

(4) F. Ratzel

Options:

878270155529, 1

878270155530. 2

878270155531. 3

878270155532. 4

Question Number : 73 Question Id : 87827039589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270155529. 1
878270155530. 2
878270155531. 3

878270155532. 4

Question Number : 74 Question Id : 87827039590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who among the following is a formalist ?
(1) George Dalton

(2) Marshal Sahlins

(3) Karl Polanyi

(4) Raymond Firth

Options :

878270155533. 1

878270155534. 2

878270155535. 3

878270155536. 4

Question Number : 74 Question Id : 87827039590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) fsi Sreed
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Options :

878270155533. 1
878270155534. 2
878270155535. 3

878270155536. 4

Question Number : 75 Question Id : 87827039591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Clifford Geertz analysed the cockfight in the Indonesian island of Bali to comprehend the Balinese
world view. This is an example for :

(1) Hermeneutics

(2) Cultural focus

() Cultural reinterpretation

(4)  Post-modernist approach

Options:

878270155537. 1

878270155538. 2

878270155539. 3

878270155540. 4

Question Number : 75 Question Id : 87827039591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155537. 1
878270155538. 2
878270155539. 3

878270155540. 4

Question Number : 76 Question Id : 87827039592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

5. C. Dube’s book ‘India’s Changing Villages” highlighted the following with regard to community
development projects.

(1) Weaknesses of block administration
(2) Role played by the elite

(3) Importance of cultural factors

(4) Significance of culture contact
Options :

878270155541. 1

878270155542. 2

878270155543. 3

878270155544. 4

Question Number : 76 Question Id : 87827039592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155541. 1

878270155542. 2

878270155543. 3

878270155544. 4

Question Number : 77 Question Id : 87827039593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The author of the book ‘Caste and Race in India’ is :
(1) David G. Mandelbaum

(2) M. N. Srinivas

(3) G.S. Ghurye

(4)

Louis Dumont

Options :

878270155545. 1
878270155546. 2
878270155547. 3
878270155548. 4

Question Number : 77 Question Id : 87827039593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155545. 1
878270155546. 2
878270155547. 3

878270155548. 4

Question Number : 78 Question Id : 87827039594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Bride- price includes goods or money given to the brides’ kin b}f the groom Or his kin at or before the
marriage. Some mthrupalogists prefer to use the term bride-wealth because :

(I) Itis not possible to calculate the values in early societies

(2)  Use of the word “price’ is not acceptable as it amounts purchase of wife equating her as
commodity

(3) Price cannot be applied to non-market economies
(4)  The term wealth is more inclusive

Options :

878270155549. 1

878270155550. 2

878270155551. 3

878270155552. 4

Question Number : 78 Question Id : 87827039594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270155549. 1
878270155550. 2
878270155551. 3

878270155552. 4



Question Number : 79 Question Id : 87827039595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Although societies with matrilineal descent seem in many respects like mirror images of their
patrilineal counterparts they differ in-

(1)  Their distribution across African and Asian societies

(2)  Their economic organizations and production of surplus
&
(

3)  Beliefs and rituals where one gender is preferred
4)  Lines of authority and descent not converging

Options :

878270155553. 1
878270155554. 2
878270155555. 3

878270155556. 4

Question Number : 79 Question Id : 87827039595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
sy et it g e o e e o ot Y e e 2 &, 59 g
el H o €7
(1) STSRTeRT 3T R o TS H S o

(2) ST U HTEA S ST SR o

o) S e i e e e e ) e 4
(4) TR Si et % o w78 2R &)

Options :

878270155553. 1

878270155554. 2

878270155555. 3

878270155556. 4



Question Number : 80 Question Id : 87827039596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Direct access to land is the prime test of tribal organization. The larger the production of a given
group in India that has direct access to land, the closer that group is to a fribal kind of organization,
This view was expressed by :

(1)  Surajit Sinha

(2) F.G.Bailey

(3) N.K Bose

(4) C.V. Fiirer Haimendorf

Options :

878270155557. 1

878270155558. 2

878270155559, 3

878270155560. 4

Question Number : 80 Question Id : 87827039596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o 1 e ST ST e o 97 A | e o fore e W o e o o 1 o
o1 e AT B %, 9% I S g e % 30 4 ke €1 e freaer o € forwen
f,

Options :

878270155557. 1
878270155558. 2
878270155559. 3



878270155560. 4

Question Number : 81 Question Id : 87827039597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In archaeological studies, reconstruction of palaeo-climate has been the domain of :
(1)  Ethnoarchaeology and Settlement archaeology

(2) Cognitive Archaeology and Action Archaeology
(3) Environmental Archaeology and Geo-Archaeology
(

)  Experimental Archaeology and Archaeometry

iy

Options :

878270155561. 1
878270155562. 2
878270155563. 3

878270155564. 4

Question Number : 81 Question Id : 87827039597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Wrdlfeaeh SEaH o qU-steary fifea § 4 fagen 69 @ 872

(1) G e faam &R sgawema
(2) TIFTHER AEVE IR HE qUae fa9m

(3) AT qUaETIE SR i e
(4) IR QAT SR YUt

Options :

878270155561. 1
878270155562. 2
878270155563. 3

878270155564. 4



Question Number : 82 Question Id : 87827039598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The prehistoric ‘rock art’ is the characteristic element of :
(1) Lower Palaeolithic Culture of India

(2) Upper Palaeolithic Culture of India

(3) Lower Palaeolithic Culture of Europe

(4) Upper Palaeolithic Culture of Europe

Options:

878270155565. 1

878270155566. 2

878270155567. 3

878270155568. 4

Question Number : 82 Question Id : 87827039598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
rifaerae 9t e’ frfafes ¥ 9 fage sifyensforer o €2
(1) a1 = QR e
(2) WA i I GRUETOA HER
(3) 9 i T AR HEF
(4) U9 Hl I AT FEHH

Options:

878270155565. 1

878270155566. 2

878270155567. 3

878270155568. 4



Question Number : 83 Question Id : 87827039599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The straligraphjc and sedimentﬂlogital studies assist to reconstruct :
(1) Absolute chronology

(2) Relative chronology

(3) Tangible behaviour of prehistoric societies
(4) Intangible behavior of extinct societies
Options :

8782701555609. 1
878270155570. 2
878270155571. 3

878270155572. 4

Question Number : 83 Question Id : 87827039599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

w-fomare SR qaerid s Fefafead § 9 feads qFmi § geme 2

(1) Tue Femwy

(2) WrifefR e

(3) WnIfaaIfees HuTst o Hd Heer

(4) ToT |9S & 31 R
Options :

8782701555609. 1
878270155570. 2
878270155571. 3

878270155572. 4

Question Number : 84 Question Id : 87827039600 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ‘Kitchen Middens’ are associated with archaemlogical sites located at :

(1) Hilltop
(2) Foothill
(3) Lake margins
(4) Loessic sands

Options :

878270155573. 1
878270155574. 2
878270155575. 3

878270155576. 4

Question Number : 84 Question Id : 87827039600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e frea’ freifera & 9 el arafiera quaTfas woe & gedifed €2
(1) erel = =

(2) wefed (verel &1 f=ret i)
(3) el & Hia 9 (S mife)
(4) TICEE W

Options:

878270155573. 1
878270155574. 2
878270155575. 3

878270155576. 4

Question Number : 85 Question Id : 87827039601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The bronze figm‘es of a ’dancing girl’ was unearthed from the ruins of :
(1) Mohenjodaro

(2) Harappa

(3) Kot Diji

(4) Kalibangan

Options :

878270155577. 1

878270155578. 2

878270155579. 3

878270155580. 4

Question Number : 85 Question Id : 87827039601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

kT ki i 1 i b1 Wb FrefaiEd § W el o STy (SFEE) ¥ ge ?

Options :

878270155577. 1
878270155578. 2
878270155579. 3

878270155580. 4

Question Number : 86 Question Id : 87827039602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Based on the presence of 21 % to 45 % reworked flakes in the stone age assemblages west of
Aravalli hill ranges, Prof. V. N. Misra named the industry as :

(1) Rohti Industry
(2) Nevasan Industry
(3) Luni Industry
(4)  Aravalli Industry
Options :
878270155581. 1
878270155582. 2
878270155583. 3

878270155584. 4

Question Number : 86 Question Id : 87827039602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
SR ) Veredl o WeH W W & Tl § G WA (V) o 21% § 45% o o
W F MR R I AE, fead m W
(1) et sgm
(2) FTEH T
o
(4) STl 3
Options :
878270155581. 1
878270155582. 2
878270155583. 3

878270155584. 4

Question Number : 87 Question Id : 87827039603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The distribution patterns of Buffalo deity and Bull deity in Harappan culture signify :

(1) Both Buffalo and Bull deities are equally present in all Harappan phases

(2) Buffalo deity is prolific in Early Harappan, while Bull deity is less in matured Harappan
(3) Bulfalo deity is well represented in Early Harappan and Bull deity in matured Harappan
(4) Buffalo and Bull deities are not part of Harappan culture

Options :

878270155585. 1

878270155586. 2

878270155587. 3

878270155588. 4

Question Number : 87 Question Id : 87827039603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o Gt o & o R 7 S o fo o o

(1) 9 o o A <o B ZgE < B W w0 Y fogae €|

() 9 o o e Fa § g (Weie) o ol ot o v ge § ed F
e 4 |

(3) ST Teo e § G <o 1 ogd At Wiowww (o) o et vitve g #e W
% <1 1 Yot ol
(4) 9 SR 9 I T HEHA F 9 ¢
Options :
878270155585. 1
878270155586. 2
878270155587. 3

878270155588. 4

Question Number : 88 Question Id : 87827039604 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Megalithic cultural context, the "Menhir’ represents :
(1) A burial type of monolith

(2) A burial type of multiple stones
(3) A Hero Stone of single pillar

(4) A Victory Pillar of standing stone
Options :

878270155589. 1

878270155590. 2

878270155591. 3

878270155592. 4

Question Number : 88 Question Id : 87827039604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfeieh wiesfass desd § ‘it frd Frefa o £
(1) TTShIFH okl JETEH 98U

(2) g 9METI <kl IETEME T8

(3) Wehed &AW T Argeh 1T

(4) @e (AgEreE) g = foeE Wy

Options:

878270155589. 1

878270155590. 2

878270155591. 3

878270155592. 4

Question Number : 89 Question Id : 87827039605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Neolithic site represented by the presence of copper axes and objects and the absence of stone
axes and blades is :

(1) Maski
(2) Daojali Hading
(3) Ahar

(4) Navadatoli
Options :
878270155593. 1
878270155594. 2
878270155595. 3

878270155596. 4

Question Number : 89 Question Id : 87827039605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ST 7 35 0 0 o () 7 o ) o g ) s o ) ) o
el () 7 e A am
(1
2
3
1

e
TR

Options :

) W

(2) @ e
()

(4)
878270155593. 1
878270155594, 2

878270155595. 3

878270155596. 4

Question Number : 90 Question Id : 87827039606 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The non-geometric and geometric lithic tools of miniature size are characteristic of :
(1) Neolithic Culture

2)  Megalithic Culture

3)  Mesolithic Culture

4) Palaeolithic Culture

(
(
(
Options :

878270155597. 1
878270155598. 2
878270155599. 3

878270155600. 4

Question Number : 90 Question Id : 87827039606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o SRR T sfufaes o safafaes ramia sham o & 9 foreent fordroamd &2
(1) FETOTIORT i HEHHa

) TR %1 HEHa

) FATAR 1 HEH

) IR HE

Options:

2

i

(
k
(4

878270155597. 1
878270155598. 2
878270155599. 3

878270155600. 4

Question Number : 91 Question Id : 87827039607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the fnllnwmg are the measures of dj:-;persion of ‘distribution of data’ ?
Standard derivation

(

(B) Z Score

(C) Range

(D) Semi-interquartile deviation

(E) Variance

Choose the correct answer from the options given below :

(1) (A), (C), (D) and (E) Only

(2) (A)and (E) Only

(3) (C), (D) and (E) Only
(4) (A), (B) and (C) Only
Options :

878270155601. 1
878270155602. 2
878270155603. 3

878270155604. 4

Question Number : 91 Question Id : 87827039607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foretfefiaa & & B oiwe ¥ fomeor’ & yerioi 3 Trae &2
(A) HHF fa=aeH

(B) Z &R

(C) wrH (3H)

(D) T8 sTaqAs fader

(E) 9&

H3 faw U foreredl © © WE SR H =99 FC -
(1) 9 (A), (O), (D) 3R (E)

(2) 9 (A) IR (E)

(3) %A (C), (D) ¥R (E)

(4) e (A), (B) &R (C)

Options :

878270155601. 1
878270155602. 2
878270155603. 3

878270155604. 4

Question Number : 92 Question Id : 87827039608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following primate groups have the dental formula 2:1:2:3 7
(A) Mandrill

(B) Japanese Macaque

(C) Gibbons

(D) Marmoset

(E) Capuchin Monkey

Choose the correct answer from the options Ewen below :

(1) (B), (C) and (D) Only
() (A),(B)and (C) Only
(3) (A), (C) and (D) Only
4) (), (D) and (E) Only
Options:

878270155605. 1
878270155606. 2
878270155607. 3

878270155608. 4

Question Number : 92 Question Id : 87827039608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes # 9 for wehe o9l & S=a wen 2:1:2:3 §72
(A) g

(B) ST HeRTE

(C) Tr==

(D) wHEE

(E) Y o

H feaw U foreredl © § WE SR H =9 FC -
(1) %9 (B), (C) ¥R (D)

(2) %9 (A), (B) 3R (O)

(3) %A (A), (C) ¥R (D)

(4) %9 (C), (D) &R (E)

Options :

878270155605. 1

878270155606. 2

878270155607. 3

878270155608. 4

Question Number : 93 Question Id : 87827039609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are considered as nonparametric tests ?
(A) ANOVA

(B) Mann Whitney U statistics

(C) Chi square test

(D) Spearman’s Rank correlation

(E) Fisher's Exact test

Choose the correct answer from the options given below :
() (), (D)and (E) Only

(3) (A), (C)and (D) Only

(4) (B), (O), (D) and (E) Only

Options :

8782701556009. 1

878270155610. 2

878270155611. 3

878270155612. 4

Question Number : 93 Question Id : 87827039609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § 9 f79 samefess T A S € ?

(A) T
(B) HA fegedl g Hefesm
(C) g T &

(D) THATH ik HegaY

(E) THIIH THiF &2

% faw o famredi o ¥ W TR F =TI FIAC -
(1) ad (B), (C) ¥R (D)

(2) %= (), (D) R (E)

(3) I (A), (C) $R (D)

(4) %= (B), (O), (D) 3R (E)
Options :

8782701556009. 1

878270155610. 2

878270155611. 3

878270155612. 4

Question Number : 94 Question Id : 87827039610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The superfamily hominoidea includes :
(A) Gorilla

(B) Chimpanzee

(C) Gibbon

(D) Baboon

(E) Howler monkey

Choose the correct answer from the options given below :
(1) (A) and (B) Only

() (A), (B), (C) and (D) Only

(3) (A), (B) and (C) Only

(4) (A), (B) and (E) Only

Options:
878270155613. 1
878270155614. 2

878270155615. 3

878270155616. 4

Question Number : 94 Question Id : 87827039610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Yo ine BifArEEr § v ©
(A) T
(B) a7y (ferish)

(E) eI=cl Hanl

% faw o famedi # ¥ W TR F =TI FIAC -
(1) I (A) 3R (B)

(2) = (A), (B), (C) IR (D)
(3) A (A), (B) 3R (C)

(4) Fa (A), (B) 3R (E)
Options :

878270155613. 1

878270155614. 2

878270155615. 3

878270155616. 4

Question Number : 95 Question Id : 87827039611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sites of South Africa yielded hominid fossils ?

(A) Border Cave

(B) Klasis River Mouth
(C) Saldanha

(D) Lake Mungo

(E) Middle Awash

Choose the correct answer from the options gven below :

N =

(1) (C), (D) and (E) Only
( (A), (B) (C) and (D) Only
(3 (B), (C)and (E) Only
(4) (A), (B)and (C) Only

Options:

878270155617. 1
878270155618. 2
878270155619. 3

878270155620. 4

Question Number : 95 Question Id : 87827039611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfe & @ afen anprent & f Tl @ weem Ser (fafTe wifged) wa guE?

(B) e A Hfer

(C) werek

(D) A E

(E) wiefer sem

3 few T forred W SR 9 T A
(1) & (C) (D) &R (E)

() % (A), (B), (O R (D)

(3) 9@ (B), (C) ¥R (E)

(4) 9 (A), (B) 3 (O

Options :

878270155617. 1
878270155618. 2
878270155619. 3
878270155620. 4

Question Number : 96 Question Id : 87827039612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following points are correct in relation to the classification of Indian races by 5. S.
Sarkar ?
A) Indo-Aryans are mesocephal

B) There are six major racial elements

(

(

(C) Scytho-Dravidian is one of the major racial elements

(D) Mesocephalic and Brachycephalic types are restricted to some regional populations
(

E)  Dolichocephalic is the predominant type in Indian population
Choose the correct answer from the options given below :

(1) (A), (D) and (E) Only

() (B) (D) and (E) Only
(3) (D) and (E) Only

(4) (B), (C) and (D) Only
Options :
878270155621. 1
878270155622. 2
878270155623. 3

878270155624. 4

Question Number : 96 Question Id : 87827039612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TH.TH, TR GRI YRAE 56l & amiieo & a9 § ®H-3e § fag o8 872
A) sﬁaﬁanﬂﬂﬁmﬁ(ﬁ@ﬁw)ﬁiﬁ%

D) TrEifathicrss 3R SfF fatHfaes 25T F9 &l STl 7 HiHd ¢
E) Sferriathices 25y YRAE e 1 9ol THE YR |

4 few U el § ¥ W TR w9 FfC

(1) R (A), (D) S (E)
(2 (B), (D) 3R (E)
(3 (D) S (E)
(4 (B), (C) ¥R (D)

(
)
(C) TR Ffafer wE el segal § ¥ U
(
(

)
)
)
)
Options :

878270155621. 1
878270155622. 2

878270155623. 3

878270155624. 4

Question Number : 97 Question Id : 87827039613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following are the Forensic Anthropologists ?
(A) Thomas Dale Stewart

(B) Catherine Panter-Brick

(C) Prasanta K. Chattopadhyay

(D) Kewal Krishan

(E) Alec John Jeffreys

Choose the correct answer from the options given below :
(1) (O), (D) and (E) Only

() (B), (©), (D) and (E) Only

(3) (A), (C) and (D) Only

4) (A), (C), (D) and (E) Only

Options:
878270155625. 1
878270155626. 2

878270155627. 3
878270155628. 4

Question Number : 97 Question Id : 87827039613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafas § & 19 o wRfas aHe fage & 2
(A) 9fFH o Eiar

(B) FULH U= forp
(C) 9T k. SEIdTear™
(D) Fael F

(E) UcTeh S SIS
H feaw U foeredl © § WE SR H =99 FC -
(1) %9d (C), (D) &R (E)
(2) FFA (B), (O), (D) ¥R (E)
(3) %A (A), (C) ¥R (D)
(4) ¥ (A), (O), (D) 3N (E)
Options :
878270155625. 1
878270155626. 2
878270155627. 3
878270155628. 4

Question Number : 98 Question Id : 87827039614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following has worked in the field of “altruism’ ?
(A) Aurther Keith

(B) J. B. 5. Haldane

(C) Jane Goodall

(D) W. D. Hamilton

(E) Paul Broca

Choose the correct answer from the options given below :

() (A), (B) and (C) Only

() (O, (D) and (E) Only

(3) (B), (C) and (D) Only

(4) (B) and (D) Only

Options:
878270155629. 1
878270155630. 2

878270155631. 3
878270155632. 4

Question Number : 98 Question Id : 87827039614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frferfies § & fray ‘wudfere’ & 49 8 w0 fam §72
(A) 3R iy

(B) SLE.UH. TeeA

(C) SF e

(D) eg 2l effieed

(E) el sl

H3 faw U foreredl © © WE SR H =99 FC -
(1) 9 (A), (B) 3R (O)

(2) %9 (C), (D) 3R (E)

(3) e (B), (C) ¥R (D)

(4) ¥ (B) &R (D)

Options :

878270155629. 1
878270155630. 2
878270155631. 3

878270155632. 4

Question Number : 99 Question Id : 87827039615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following declared ‘Piltdown Skull” as hoax ?
(A) Joseph Weiner

(B) Kenneth Oakley

(C) Wilfrid Le Gross Clark

(D) Arthur Keith

(E) Raymond Dart

Choose the correct answer from the options given below :

(1) (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4) (B), (D) and (E) Only

Options:
878270155633. 1
878270155634. 2

878270155635. 3
878270155636. 4

Question Number : 99 Question Id : 87827039615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa § 9 faga ' fueeema wra' &1 9 (2) =ifta frn &2
(A) SIH® IR

(B) Y JATeRal

(C) fafewe & 79 Famh

(D) 319 Y

() WUS TR

A feu U faemredi # 9§ T/ SO =9 FIN

(1) %9 (B) 3R (D)

(2) e (A), (B) AR ()

(3) %= (B), (C) 3R (D)
)

(4) ¥4 (B), (D) 3N (E)
Options :

878270155633. 1
878270155634. 2
878270155635. 3

878270155636. 4

Question Number : 100 Question Id : 87827039616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sites yielded fossils of Archaic sapiens ?
(A) Hexian

(B) Kabwe

(C) Omo

(D) Florisbad

(E) Dmanisi

Choose the correct answer from the options given below :
(1) (O), (D) and (E) Only

(2) (A), (€) and (D) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Options:
878270155637. 1
878270155638. 2

878270155639. 3
878270155640. 4

Question Number : 100 Question Id : 87827039616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfea o 9 T woreti 9§ srehses S & a3 W U 8 7
(A) BfEA

(B) re

(C) 3

(D) TAEaTS

(E) SHHHl

H3 faw U foreredl © © WE SR H =99 FC -
(1) %9d (C), (D) &R (E)

(2) %9 (A), (O) 3R (D)

(3) %9 (B), (O) ¥R (D)

(4) e (A), (B) &R (C)

Options :

878270155637. 1

878270155638. 2

878270155639. 3

878270155640. 4

Question Number : 101 Question Id : 87827039617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



M. N. Srinivas argued that insiders are better placed while studying a soclety, for the following
reasons :

(A) They are well versed with language and thus have an advantage

(B) Insiders will have "home blindness’

(C) With adequate training, insiders can overcome prejudices and biases

(D) Insiders can adjust well to the condition of field work where as outsiders feel home sick
(

E) Insiders have all the resources

Choose the correct answer from the options given below :
(1) (A) and (C) Only

(2) (A)and (D) Only
(3) (B) and (D) Only
(4) (C) and (E) Only
Options:
878270155641. 1
878270155642. 2
878270155643. 3

878270155644. 4

Question Number : 101 Question Id : 87827039617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



w0, AT 3 2eie <) fo o O o o T A ¥ ) e e s fof o
7 &, it

(A) o ¥ V1 B & S 5 e 3¢ e o o |

(B) I % & i o SpeAgRd | AW scge g

(C) v Weleul & WIeAw ¥ oSt o ST o & ARl Qe S VO H R 1 4 2|

(

D) T & 1 wRfeeil SR WS R W & T ol Rl et (3 fo)
TETH H T ¢

(E) 3PSt % T Hfl HEeA 6 ¢ |
1 few T ol W 4 e S 1 T A
(1) @ (A) & (Q)

Options:

878270155641. 1
878270155642. 2
878270155643. 3

878270155644. 4

Question Number : 102 Question Id : 87827039618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



These days participatory approaches to tribal development are preffered because :

(A) Local people have better knowledge about topography and resources than outsiders
(B) For enabling and empowering local populations

(C) It is mandated by international conventions

(D) Funding agencies prescribe the participatory approaches

(E) It will minimise administrative expenditure

Choose the correct answer from the options given below :

(1) (A)and (E) Only

(2) (C) and (D) Only
(3) (B) and (C) Only
(4) (A)and (B) Only

Options:

878270155645. 1
878270155646. 2
878270155647. 3

878270155648. 4

Question Number : 102 Question Id : 87827039618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR AT forg & Wit SumTe 261 v < i <, @it

(A)  TIFiTa G 6 R R i o e o ) e feaf S S # e ST a ¢ |
(B) R ST 1 W I A 3% TR FA % fey|

(C) T et s gm A €

(D) forFeTe 26T el olferal T SUT a6 A R

(E) 39 WO % G W SHfoma FH |

e fo T o o 9 R R A A HC

(1) A (A) 4R (E)

Q) @ (C) 3 (D)
o) W(B)aﬂm
(4) A (A) 4R B)
Options :
878270155645. 1
878270155646. 2
878270155647. 3

878270155648. 4

Question Number : 103 Question Id : 87827039619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The scholars who are associated with the concept of general and specific evolution are :
(A) L.H. Morgan

(B) E.B.Tylor

(C) M. Sahlins

(D) E.Service

(E) ] ]. Bachofen

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (C) and (D) Only
(3)  (A)and (E) Only
(4) (B) and (D) Only

Options:

878270155649. 1
878270155650. 2
878270155651. 3

878270155652. 4

Question Number : 103 Question Id : 87827039619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y fagr =M € S g iR faftre Safawm it stavmon | dag ® 2
(A) TeA.UH. A

(B) Tl 2EH

(C) TH. HeferH

(D) %, Hfew

(E) SIS, oIohIwA

A feu U foeredi § 9 Wad Iada ST 1 =T HTWC

(1) < (A) 3R (B)
(2) % (C) ¥R (D)
(3) I (A) TR (E)
(4) %= (B) dR (D)
Options :

878270155649. 1
878270155650. 2
878270155651. 3

878270155652. 4

Question Number : 104 Question Id : 87827039620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The most important dimensions of Human Development Index (HDI) are :
A)  Growth rate of economy

(

(B) Health (Life Expectancy)

(C) Quality of Living

(D) Gross Domestic Produce

(E) Identity Crystallization

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) {A) and {E) On_l}
(4) (C) and (D) Only
Options :

878270155653. 1
878270155654. 2
878270155655. 3

878270155656. 4

Question Number : 104 Question Id : 87827039620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HHE foehtd geaehieh (TH €1 A18) o Felldeh Hecgul S €
(A) srefoaTen 1 fas™d <X

(B) T@reeH (Sfred Yeaem)

(C) SfeH =T TuE

(D) Hehel =] 3R

(B) Il Hgelhu

= feu TTu forepedi W | WEH IAdE ST 1 =HEA HE
(1) e (A) 3T (B)

(2) A (A) IR (E)
(3) ®ad (B) &R (C)
(4) %9 (C) 3 (D)
Options :

878270155653. 1
878270155654. 2
878270155655. 3

878270155656. 4

Question Number : 105 Question Id : 87827039621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the writings of N. K. Bose :
(A) Cultural Contours of Tribal Bihar

(B) The Acculturation of Bhumij

(C) Cultural Zones of India

(D) The Hindu Method of Tribal Absorption
(E) Tribe Caste and Nation

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) () and (E) Only
(3) (C) and (D) Only
(4) (D) and (E) Only
Options:

878270155657. 1
878270155658. 2
878270155659. 3
878270155660. 4

Question Number : 105 Question Id : 87827039621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T, 99 % ¢@q 1 9949 He

(A) TFHeeRA Hiwd Ak 2ead fTer

(B) & THeaH TE s

(C) we=Rel S=g 311 2fean

(D) = feg AYS 3H 2 TesiaH

(E) 239 &2 Ug v

= feu TTu forepedi W | WEH IAdE ST 1 =HEA HE
(1) I (A) 3R (B)

(2) %99 (C) ¥R (E)
(3) e (C) ¥R (D)
(4) e (D) 3R (E)
Options :

878270155657. 1
878270155658. 2
878270155659. 3

878270155660. 4

Question Number : 106 Question Id : 87827039622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the books written by Claude Levi-Strauss :

(A) The Theory of Social Structure

(B) The Elementary Structures of Kinship

(C) Social Structure

(D) Structural Anthropology

(E) Structure and Sentiment

Choose the correct answer from the options given below :
(1) (E) and (A) Only

(2) () and (E) Only
(3) (D) and (E) Only
(4) (B) and (D) Only

Options:

878270155661. 1
878270155662. 2
878270155663. 3

878270155664. 4

Question Number : 106 Question Id : 87827039622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FARE ST gr fafaa T =1 fafe Hif
(A) T AN AT G TR

(B) T UfcTH=ll RFaH SATH g

(C) TI9eT TR

(D) TR UUITeArsT

(E) &R UT Afeie

e feu Tu forepedi W | W SR ST k1 = HIfE
(1) e (E) 3R (A)

(2) %99 (C) ¥R (E)

(3) 9w (D) R (E)

(4) %9 (B) ¥R (D)

Options :

878270155661. 1

878270155662. 2

878270155663. 3

878270155664. 4

Question Number : 107 Question Id : 87827039623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The important aspects of research ethics suggested for anthropologists include :
(A) Informed consent of the participants in research is essential

(B) National interest gets priority

(C) Protection of the interests of funding agencies

(D) Protection of the privacy and dignity of the participants

(E)  Research objectives should not be revealed to the participants

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (A)and (E) Only
(3) (B) and (C) Only
@ (A)and (D) Only
Options :

878270155665. 1
878270155666. 2
878270155667. 3

878270155668. 4

Question Number : 107 Question Id : 87827039623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TFEREE! % fee geme o wify Afawda F meeye weasd | i
(A) e H TRl &1 9t aet genfa stfard 8

(B) U fedi 1 wfhepar & S @

(C) o &2 Al waifai & fedt 6t T

(D) HRHITTET <l T7oi SR ¥ =1 &

(E) WeWIiTal %! 9% o 3evd el 9aT¢ S =feq

A= f3U U faskedi W | Herd e ST k1 = FHfU

(1) ad (A) 3 (B)
(2) e (A) I (E)
(3) F=d (B) 3R (O)
(4) F9@ (A) 3R (D)
Options :

878270155665. 1
878270155666. 2
878270155667. 3

878270155668. 4

Question Number : 108 Question Id : 87827039624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the following worked on Jajmani system in India ?
(A) A. C. Mayer

(B) David F. Pocock

(C) Thomas O Beidelman

(D) Harold Gould

(E) Emile Senart

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (E) Only

(3) (C) and (D) Only

(4) (D)and (A) Only

Options:
878270155669. 1
878270155670. 2

878270155671. 3

878270155672. 4

Question Number : 108 Question Id : 87827039624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ffafaas 5 9 foraa arg § gsmr gefa o = faan ?

(A) THL 7
(B) Efoe U UmEhIF
(C) Mg =7t fagaiq
(D) &Ues s
(E) uffet F

= feu TTu forepedi W | WEH IAdE ST 1 =HEA HE
(1) 9 (A) 3R (B)

(2) %9 (B) ¥R (E)

(3) e (C) ¥R (D)

(4) FA (D) I (A)

Options :

8782701556609. 1

878270155670. 2

878270155671. 3

878270155672. 4

Question Number : 109 Question Id : 87827039625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The anthropologists who used comparative method are :
(A) George Peter Murdock

(B) C.V. Fiirer Haimendorf

(C) B. Malinowski

(D) A. R. Radcliffe-Brown

(E) E.R. Leach

Choose the correct answer from the options given below :
(1) (A) and (D) Only

(2) (A) and (E) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options:

878270155673. 1
878270155674. 2
878270155675. 3

878270155676. 4

Question Number : 109 Question Id : 87827039625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfaa o 9 for araenteri | qoreas gfafy = 39ar fe
(A) il fieX qefh

(B) T W THETH

(C) @it HfcHRR

(D) TR, TEfaaw-amEd

(E) 3.3R @i

Al feu U faehedi § 9 Werd Sada ST 1 =9 ST

(1) I (A) 3R (D)
(2) A (A) IR (E)
(3) = (B) ¥R (D)
(4) e (A) 3R (B)
Options :

878270155673. 1
878270155674. 2
878270155675. 3

878270155676. 4

Question Number : 110 Question Id : 87827039626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The advantages of mailed questionnaire are :
(A) It saves time required for the study

(B) Answers can be checked and verified

(C) It saves money as payment to the investigators can be avoided
(D) It is more scientific and objective

(E) One can know who are responding to the questions

Choose the correct answer from the options given below :

(1) (A)and (C) Only

(2) (B) and (D) Only

(3) (D) and (E) Only

(4) (E) and (A) Only

Options:
878270155677. 1
878270155678. 2

878270155679. 3

878270155680. 4

Question Number : 110 Question Id : 87827039626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) TTY 4 1 7= Nl ¢ ek TR 1 T F § = o WA €
(D) 76 iy FfTeh 3 TS Bl ¢ |

(E) W W Tohd ¢ foF Tl o IR i ¢ W@ &

A feu U foredi H ¥ e e S B T i

(1) e (A) &R ()
(2) e (B) R (D)
(3) e (D) &R (E)
(4) I (E) 3 (A)
Options :

878270155677. 1
878270155678. 2
878270155679. 3

878270155680. 4

Question Number : 111 Question Id : 87827039627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Indian Neolithic Cultural characteristics are known from :
(A) Bhimbetka and Birbhanpur

(B) Inamgaon and Billasurgum
(C) Sanganakallu and Sarutaru
(D) Eran and Chandol

(E) Gudium and Nevasa

Choose the correct answer from the options given below :
(1) (A) and (D) Only

(2) (C) and (D) Only

(3) (B) and (E) Only

(4) (C), (D) and (E) Only

Options:

878270155681. 1

878270155682. 2

878270155683. 3

878270155684. 4

Question Number : 111 Question Id : 87827039627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GRATT FaTER Gekfaen fagrmand frfafaa § 4 wel ¥ < 5t & 2
(A) iRt AR FoRYAR

(B) ™A AR feareereETH

(C) HHehed 3R HEa®

(D) T 3R =l

(E) Tfeam ofR o

e feu U el ¥ 9 W Iadat ST 61 = e
(1) e (A) ¥R (D)

2) *Fd (C) 3R (D)

(3) A (B) 3 (E)

(4) e (C), (D) IR (E)

—

Options :

878270155681. 1
878270155682. 2
878270155683. 3

878270155684. 4

Question Number : 112 Question Id : 87827039628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Upper Palaeolithic traditions of Eurnpe were :

(A) Mousterian and Maglemosian

(B) Tardenoisian and Chatelperronian

(D) Azilian and Aurignacian

(E) Gravettian and Solutrean

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (C) and (E) Only



Options :

878270155685. 1
878270155686. 2
878270155687. 3
878270155688. 4

Question Number : 112 Question Id : 87827039628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
79 F} TR AR WRT of
(A) HifERFA IR HrermiagE
(B) dReARfEEA iR eIy
(C) EfyEA iR ufErfeam
(D) TUfStfergd & Ao
(B) aferm iR Heged
= feu TTu forepedi W | WEH IAdE ST 1 =HEA HE
(1) aa (A) 3R (B)

(2) %99 (B) IR (C)
(3) e (C) ¥R (D)
(4) %9 (C) ¥R (E)
Options:

878270155685. 1
878270155686. 2
878270155687. 3

878270155688. 4

Question Number : 113 Question Id : 87827039629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The Indus Valley Civilization is characterized by :

(A) Town plal;_ning and trade P

(B) Texts and scriptures

(C) Terracottas and metal objects

(D) Expansion of civilization over the Indian sub-continent
(E) Extensive use of iron for tool production

Choose the correct answer from the options g‘iven below :

(1) (A), (B) and (C) Only

(2) (A), (B) and (D) Only
(3) (©), (D) and (E) Only
(4) (A)and (C) Only

Options :

878270155689. 1
878270155690. 2
878270155691. 3

878270155692. 4

Question Number : 113 Question Id : 87827039629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) &L ASE 3R AN
(B) UISIYEH SR HHUY

(E) 39U 3c1e o foTu efig o1 =amdek WarT

= feu TTu forepedi W | WEH IAdE ST 1 =HEA HE
(1) 9 (A), (B) 3R (O)

(2) %99 (A), (B) R (D)

(3) %A (C), (D) ¥R (E)

(4) FAA (A) I (Q)

Options :

878270155689. 1

878270155690. 2

878270155691. 3

878270155692. 4

Question Number : 114 Question Id : 87827039630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fabrication of a Laurel leaf point involves :

(A) Pecking

(B) Flaking

(€C) Grinding

(D) Retouch

(E) Polishing

Choose the correct answer from the options given below :
(1) (A) and (D) Only

{3) (C).- {D) and {E) Or[hr
(4) (D) and (E) Only

Options:

878270155693. 1
878270155694. 2
878270155695. 3
878270155696. 4

Question Number : 114 Question Id : 87827039630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A T 152 T = H -1 e & 2
(A) U

(B) TR

(€) T (ImEfE)

(D) AT

(E) OifeAromT

= feu TTu forepedi W | WEH IAdE ST 1 =HEA HE
(1) I (A) 3 (D)

(2) 9 (B) ¥R (D)

(3) 9 (C), (D) R (E)

(4) ¥ (D) 3 (E)

Options :

878270155693. 1

878270155694. 2

878270155695. 3

878270155696. 4

Question Number : 115 Question Id : 87827039631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are isotopic dating methods ?
(A) Archaeo-magnetic dating

(B) Potassium-Argon dating

(C) Dendrochronology

(D) Fission Track dating

(E) Thermoluminescence dating

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (B), (D) and (E) Only

(3) (A), (B) and (C) Only

(4) (O), (D) and (E) Only

Options:

878270155697. 1

878270155698. 2

878270155699. 3

878270155700. 4

Question Number : 115 Question Id : 87827039631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes o @ @m | fafy fafor fafy searifees fafy fuion fafier €2
A) TacTa ey o fuiro

B) diefmEm i fafy e

) SIS

D) TreA o fafy fefm

E) emfqiay fafe femo

A fou T forpedl § ¥ HaH aga I 1 = T ;

M

(
(
(
(
(

(1) <9 (B) ¥R (D)
() % (B), (D) 3 (E)
(3) %ad (A), (B) @R (C)
(4) ¥ (C), (D) ¥ (E)
Options :

878270155697. 1
878270155698. 2
878270155699. 3

878270155700. 4

Question Number : 116 Question Id : 87827039632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - I1
(A) Head circumference (I) Children and adolescents
(B) Weight-for-stature (II) Pre-school children
(C) Shoulder-hip-ratio (III) Pre-adolescent children
(D) BMI for age (IV) Adolescent

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (O)-(IV), (D)-(I)

(2) (A0, (B)-(ILD), (C)-(IV), (D)-(I)

(3) (A1), (B)-(IV), (O)-(11D), (D)-()

(4)  (A)-(IV), (B)(IIL), (C)-(1), (D)-(I)

Options:

878270155701. 1

878270155702. 2

878270155703. 3

878270155704. 4

Question Number : 116 Question Id : 87827039632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 % 919 Feii-11 =1 fHerH sHifsre

-1 GE-11
(A) T = aftam () == iR foRein
(B) < % HTHR TSH () foae™ g6 & 5=
(C) = o T (IIT) TeR9TerEen gd o o=
(D) 3] % fag sfumemg (IV) Tereirrasen

"= feu 7o fowedi § 9 9& SO & 999 Hife
(1)  (A)-(1), (B)~(1D), (C)-(IV), (D)-(I)
(2)  (A)-(ID, (B)-(11D), (O-(V), (D)-(D)
(3) (A1), (B)-(IV), (O)-(I1I), (D)-(I)
(4)  (A)-(IV), (B)~(IID), (C)-(D), (D)-(1I)



Options :

878270155701. 1
878270155702. 2
878270155703. 3
878270155704. 4

Question Number : 117 Question Id : 87827039633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List-1I
(A) Karl Landsteiner (I)  First to study linkage quantitatively in human
(B) ] B.S. Haldane (I) Suggested the role of genetic disease in shaping the

genetic constitution of human
(C) Grety T. Coriand Carl F. Cori  (III) Discovered ABO blood group system

(D) E.B.Ford and J. B.S. Haldane  (IV) Demonstrated the first enzyme specific defect in an
inborn error of metabolism

Choose the correct answer from the options giuen below :

(1) (AM), (BHL), (C)-V), (D))
(2)  (AHIV), (B, (CHI), (DH)
(3) (A}, (BHD), (C-(I), D)-(IV)
() (AHIV), (B)I), (C)-{I), (D))
Options :

878270155705. 1
878270155706. 2
878270155707. 3

878270155708. 4

Question Number : 117 Question Id : 87827039633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

-1 o T G-I 7 ferm it

Tl Tl
(A) Fe T () o % feiehst o1 SATOTCH AR T oTell §oW
(B) ST, FeA () W 1 e e o fwion & Sifeds T a1 e

e

Q) W B ARACE B () Tl T HE T B T

(D) 3ot O SMAATH qeed (V) U ot oI el W 9o Uairen fafire <
i feb

7 feu o foemedt @ 9 WE SO A T e

(1) (AHI), (B, (C-(IV), (D)

(@ (AHLV), (B, (C)-{1), DHI)

() (AMIL), (BHI), (CHI), (DHIV)

() (AHLV), (B, (CHID, (D}
Options :

878270155705. 1
878270155706. 2
878270155707. 3

878270155708. 4

Question Number : 118 Question Id : 87827039634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Tamarin (I) Alouatta
(B) Howler monkey (L) Ateles
(C) Spider monkey (IIT)  Papio
(D) Baboons (IV)  Saguinus

Choose the correct answer from the options given below :
(1) (A1), (B)-(IV), (C)-(1), (D)~(1II)

(2)  (A)-(ID), (B)-(IV), (O)-(I), (D)~(ID)

(3)  (A)-IV), (B)-(D), (C)-(II), (D)-~(1ID)

(4)  (A)-(I), (B)~(I), (C)-(1I), (D)-(IV)

Options:

878270155709. 1

878270155710. 2

878270155711. 3

878270155712. 4

Question Number : 118 Question Id : 87827039634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 % 919 Geii-11 =1 e IS
Teil-1 Teit-11
(A) ewfe 1) TeIEr
(B) T Hahl () Tog
(C) TEET Hehl (I11) 9=
(D) A V) #@faTa

"= feu 7o fowedi § 9 9& SO & 999 Hife
(1)  (A)(1D), (B)-(IV), (O)-(I), (D)~(11)
(2)  (A)-(ID, (B)-(IV), (O)-(D), (D)-(11)
(3)  (A)IV), (B)~(D), (C)-(IL), (D)~(L1)
(4) (A)-(II), (B)~(I), (C(I1), (D)-(IV)



Options :

878270155709. 1
878270155710. 2
878270155711. 3

878270155712. 4

Question Number : 119 Question Id : 87827039635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - 1 List - II

Programmes Year of commencement
A) International Biological Programme  (I) 1971
(B) Man and Biosphere Programme (I) 1991
(€) Human Genome Project (If) 1964

(D) Human Genome Diversity project (IV) 1990

Choose the correct answer from the options given below :

(1) (A)I), (B)-(I), (C}-(ID), (D)-(IV)
(2)  (A)HI), (BHII), (CH(IV), (D)-(I)
@3) (AT, B)-(1), (OIV), (DHIL)
(4) (A, (B)-(I), (CHIV), (D)
Options:

878270155713. 1
878270155714. 2
878270155715. 3

878270155716. 4

Question Number : 119 Question Id : 87827039635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 6 frerm sife

-1 -1
Ty Uy T Y
(A) 3SAFA dAFcitohel W™ (I 1971
(B) H UUE FEEHIET YITH (I) 1991
(C) 7w ToAm disiae (I) 1964
(D) WA oW SEafdel ursiae (IV) 1990

= feu 7o forredi § | W& I 1 = i
() (A, (B)-(1), (C)-(IT),(D)-(IV)

(2)  (A)-(D), (B)-(LII), (C)-(IV), (D)-(IT)

(3)  (A)-(ID), (B)-(D), (O)-(IV), (D)-(1L)

(4) (A, (B)~(1), (O-(IV), (D)-(IT)

Options :

878270155713. 1

878270155714. 2

878270155715. 3

878270155716. 4

Question Number : 120 Question Id : 87827039636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
List - I List - II
(A (I) M. Fortes
(B) Magic, Science, Religion and Other Essays  (II) R. Lowie
) A Natural Science of Society (II) B. Malinowski

) The History of Ethnological Theory

Kinship and Social Order (IV) A. R. Radcliffe-Brown

(€
(D)
Choose the correct answer from the Uptinns given below :

(1) (A0, (B, (CH1V), (D)-(I)
(2)  (ARIV), ( )(HJ (C)-(1), (D))
(3) (A, (B)-1), -, (D)-(V)
(4) (A1), B)-(I), (©)-1V), (D)-(D)
Options:

878270155717. 1
878270155718. 2
878270155719. 3

878270155720. 4

Question Number : 120 Question Id : 87827039636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teit-1 % 19 Geit-11 =1 e shifse ;

Teft-1 Tit-11
(A) & fewdl e werAeitsRe 2 () TH. FRH
(B) ifeer, TEw, A Ue et W (1) SRR
(C) AT B % Qg (I1T) it. WicHmeR
(D) ferafyr U G e (IV) TR, TEHTs-srs
e o Tu forredi § @ & I 1 T FIC ;
(1) (AHD, BRI, (CHAV), (D)-(I)
(2 (AHIV), (B)(ID), (C)-(0), (D)-(II)
(3) (A, (B)-(ID), (©)-(I), (D)-(IV)
(4) (A, (B)-(), (©)-{V), (D))



Options :

878270155717. 1
878270155718. 2
878270155719. 3
878270155720. 4

Question Number : 121 Question Id : 87827039637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Konds (I)  Swurajit Sinha
(B) Kota (II) F. G. Bailey
(C) Bhumij (IlI) Ram P. Srivastava
(D) Bhotia (IV) D. G. Mandelbaum

Choose the correct answer from the D]J[iDI'lS given below :

(L) (A, (B)-(1V), (O)-(I1), (D)-(I)

(2 (A)(IV), (B)(IID), (C)-(ID), (D)~(D)
(3) (A1), (B)-(IV), (C)-(D), (D)~(11)
(4) (A)-(IV), (B)-(I), (C)-(IT), (D)-(1L)
Options:

878270155721. 1
878270155722. 2
878270155723. 3

878270155724. 4

Question Number : 121 Question Id : 87827039637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % 1 G- = T e

-1 Gial
(A) Freg 1)  gsi fomr
(B) I () TR, Sl
(© s (1) . e
(D) sifean (IV) ELH. "igesm

A= feu 7o fasredi § € 9 39 &1 994 S

(1) (A)-ID), (B)-(IV), (C)-(I1D), (D)-(I)
(2)  (A)IV), (B)-(IIL), (O)-(1D), (D)-(D)

) )
(3) (A, (B)-(V), (O-(1), (D))
(4)  (A)-(IV), (B)-(D), (C)-(IT), (D)~(I)
Options:
878270155721. 1
878270155722. 2
878270155723. 3

878270155724. 4

Question Number : 122 Question Id : 87827039638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Basic Personality Structure (I) F. Barth
(B) Social Organisation of Tradition (II) ]. Frazer
(C) Evolution of Religion (III) R. Redfield

(D) Ethnic Groups and Boundaries (IV) A. Kardiner
Choose the correct answer from the options given below :
(1) (A}, B)-1D, ©-(V), (D)
() (A)HIV), (B)(I), (O, (D)-()
(3) (A)-(I), (B)-(11), (O)-I), (D)-(IV)
(4)  (A)-(IV), (B)-(II), (C)~(I), (D)~(II)



Options :

878270155725. 1
878270155726. 2
878270155727. 3

878270155728. 4

Question Number : 122 Question Id : 87827039638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G- o |19 Geil-11 1 frerH s
Tt-1 -1
(A) afgs T waERr () U, =
(B) HIYA ATAESRA #HiE fevH () 3. HR
(C) 3aEH A9 TeifsH (Il) 3R, (EHeE
(D) TR I U IRgH (IV) T FEM

= feu U fowredi § 9 W IO 1 9949 FIU
(1) (A1), (B)-(ILD), (C)-(IV), (D)-(I)

(2)  (AHLV), (B)-(IL), (O)-(1D), (D)-(I)

(3) (A, (B)-(1T), (O)-(T), (D)-(1V)

(4)  (A)(IV), (B)-(ID), (C)-(1), (D)-(I1)
Options:

878270155725. 1
878270155726. 2
878270155727.3

878270155728. 4

Question Number : 123 Question Id : 87827039639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 11
List - I List - I1

(A) Study of Industrial Complexes in Tribal areas (I)  Louis Dumont
(B) Study of Tribal Movement (II)  D. N. Majumdar
(C) Study of Polyandry (I) L. P. Vidyarthi
(D) Study of Caste (IV) K. S. Singh

Choose the correct answer from the DpllDI‘lb gwen below :

1) (A)(II), (B-(D), (©-1V), (D)-{0)
2) (B}-(I), (C(IV), (D)

(

(2)  (AMI), (DI
(3) (A, B)-(IV), (O-(1), (D))
(4)  (A)M(II), (B}-(IV), (OHTL), (D)-0)
Options:

878270155729. 1

878270155730. 2

878270155731. 3

878270155732. 4

Question Number : 123 Question Id : 87827039639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 TE-11

(A) ST & H sieifTe gl o st () 9
(B) SR SRR 1 2T (1) . AIHER
(C) wRUH T ST (1) we . foremedf
(D) Ifd T 27 (IV) *.uH. fHe

9 fou 1 fowmedi § ® W@ IO F1 =T Fifo
(1) (A1), (B)<11), (C)-(IV), (D)-(I)

(2) (A1), (B)-(II), (C)-(1V), (D)-(IL)
(3) (A1), B)-{1V), (O-0), (D))
(4)  (A)-(I), (BLV), (Q-(11), (D)-(1)

Options:

878270155729. 1
878270155730. 2
878270155731. 3

878270155732. 4

Question Number : 124 Question Id : 87827039640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List - I List - II
(A) Neolithic culture (I)  Topical and Sarcophagi
(B) Megalithic culture (II) PGW and OCP
(C) Mesolithic culture (III) Axes and Celts
(D) Iron Age culture (IV) Crescents and Trapezoids
Choose the correct answer from the options given below :
(1) (A, (B)-(), (©)-(V), (D)-(1)
(2)  (A)IV), (B)(1D), (C)-(1), (D)~(IL)
(3) (A, (B)(D), (C-(1V), (D)-(1)
(4) (A0, (B)}-(IV), (C)-(11), (D)-(ID)



Options :

878270155733. 1
878270155734. 2
878270155735. 3
878270155736. 4

Question Number : 124 Question Id : 87827039640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 919 -1 =1 fHerH shifsre .

A | -1
(A) ST HEHfA () 2Taferel de Hehlth
(B)  HBTITIION HERfd () 0 St 2scg de &1 4 b
(C) HEHITHO] GEhfd (Ill) THH Ug Hoeq
(D) e T el (V) FHIH TS TUSiagH

A= feu 7o fasredi § € 9 39 &1 994 S
(1) (A, (B)-(), (©)-IV), (D)-(I)

(2)  (A)-(IV), (B)ID), (O)-(D), (D)-(1I)

(3) (A=), (B)-(1), (CO(1V), (D)-(I)

(4)  (A)-D), (B}-(IV), (C)-(IM), (D)-(IT)
Options:

878270155733. 1

878270155734. 2

878270155735. 3

878270155736. 4

Question Number : 125 Question Id : 87827039641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) River (I)  Morain deposits
(B) Wind (II) Thellasostatic terraces
(C) Sea (III) Fluvial deposits
(D) Glacial (IV) Loess deposits

Choose the correct answer from the options given below :
(1) (AHD), (BF(ID), (OHIV), D))

(2)  (A)-(I), (B)~(IV), (C)-(1D), (D)-(L)

(®) ()W, B)-0, (CHI), (D)-aV)

(4)  (A)-IV), (B)(ID), (C)-(T), (D)-(II)

Options :

878270155737. 1

878270155738. 2

878270155739. 3

878270155740. 4

Question Number : 125 Question Id : 87827039641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % 1 G- = T e
TEl-1 -1

(A) el (1) A frEm

(B) T (TAN) (1) Serareifees afgwnd
(C) I4g (II1) weIfoae fAam

(D) TSR (Iv) g fAedy

A= feu 7o fasredi § € 9 39 &1 994 S
(1) (AD, (B)-(II), (C(IV), (D)-(IT)
(2) (A)-(IL), (B)-(IV), (O)-(1D), (D)-(L)
(3)  (A)-(1D, (B)-(I), (O)~(IL), (D)-(IV)
(4) (A)-(IV), (B)-(1I), (C)-(I), (D)-(ILL)

Options:

878270155737. 1
878270155738. 2
878270155739. 3
878270155740. 4

Question Number : 126 Question Id : 87827039642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following landmarks in the cephalo-caudal order :
(A) Ectocanthion

(B) Trichion

(C) Symphysion

(D) Mesosternale

(E) Acropodion

Choose the correct answer from the options given below :
() (B), (A), (D), (O), (E)

(2 (©), (D), (A), (E), (A)

(3) (A), (E), (D), (©), (B)

4) (B), (A), (B), (©O), (D)



Options :

878270155741. 1
878270155742. 2
878270155743. 3
878270155744. 4

Question Number : 126 Question Id : 87827039642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafed g fag (teurh) &I fawa-+ed %9 1§ SHafd i
(A) TERIHYHH

(B) el

(C) TavrEfEsH
(D) HEEHA
(E) IS
A feu U faeredi § 9 W@ ST 1 =44 HIfT
(1)  (B), (A), (D), (O), (E)

(2)  (©), (D), (A), (B), (A)

(3) (A), (B), (D), (O), (B)

4) (B, (A), (B), (©), (D)

Options:

4

878270155741. 1
878270155742. 2
878270155743. 3

878270155744. 4

Question Number : 127 Question Id : 87827039643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following fossil remains in term of its appearance in the geological time scale from the
eatliest to the latest :

(A) Ardipithecus
(B) Adapidae

(C) Parapithecidae
(D) Pronconsul

(E)  Plesiadpiformes

Choose the correct answer from the options given below :
1) (®) D)6 O e

(& (B O D) (A

6 @) [ 0) @)
@ ([0 ®) B, &)
Options :
878270155745. 1
878270155746. 2
878270155747. 3

878270155748. 4

Question Number : 127 Question Id : 87827039643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fepeifcifian e Sty o1 S i WO (F99 A0E) W I Wl % AMR W aAfea ¥
SMYfRT W ¥ o F

ﬁmmmammmwﬁm

(1) (&), (D), ®) ©) ()
(@ (), (®) (©) D) @A)
() (@) () () D), ()
(4 ©) () (&) ®) @A)

Options :

)
) | )
) | )
) | )

878270155745. 1
878270155746. 2
878270155747. 3

878270155748. 4

Question Number : 128 Question Id : 87827039644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the classification of Indian pnpulation made by the follnwing scholars from the latest to
the earliest :

(A) Sir Herbert H. Risley

(B) Biraja Sankar Guha

(C) Alford Cord Haddon

(D) Vincenzo Giuffrida-Ruggeri
(E) S.S. Sarkar

Choose the correct answer from the options given below :

(1) () ®) 0)(©) E)

@ (4),(C) [), D) )
(3) (€ (B), (C), (A), D)
(4) (B, (), (C), (D) (A)
Options :

878270155749. 1
878270155750. 2
878270155751. 3

878270155752. 4

Question Number : 128 Question Id : 87827039644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faefera fogar gr v 0 e e & afiaR 1 anefrrm @ anfeam 7§ safer

At few o ferredt o @ W SR 1 A
() (), (), O) (C) &

(@ (&), (), @) O) [
G (E
(

) (B), (C), (4), (D)
1) B

) [0)
B), (O (D) (A)



Options :

878270155749. 1
878270155750. 2
878270155751. 3

878270155752. 4

Question Number : 129 Question Id : 87827039645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the year of publication of the first edition of the following books from the earliest to the
latest :

(A) Foetus into Man : Physical Growth from Conception to Maturity [by |. M . Tanner|

(B) Growth at Adolescence [by J. M. Tanner]

(C) The Physiology of Human Growth [by J. M. Tanner and M. A. Preece]

(D) World Wide Variation in Human Growth [by P. Eveleth and ]. M. Tanner|

(

E) Human Biology : An Introduction to Human Evolution, Variation and Growth [by G. A.
Harrison, J. 5. Weiner, |. M. Tanner, N. A. Barnicot]

Choose the correct answer from the options giuen below :

(1) (@), ®) 0) ©) E)

@ (A),®),E) ©), D)
(3) @), () D) (4) €
(@) (8 (), (A4) ©) ©)
Options :

878270155753. 1
878270155754. 2
878270155755. 3

878270155756. 4

Question Number : 129 Question Id : 87827039645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Feeffers el o e SRl o WA Y a1 ST § SR Y § S e ;

(A) ieH 3 T TRl T T Hh 2 WA (SLT. E)

(B) 9 U2 TEITHH (3T, o)

(C) & fsirelst aif g My (S, S 4R WU, )

(D) o 8 ST 3 & MY (T, Tt af LW, 2R)

(E) A TGl : T ST 2 & e, ofCy Qe e (., ffs, S, ff, ST &,
TAY, afie)

e few o fomredl # 9 W S A T Fi

(1) (A), (), O) (©) (E)

) (4)(8) ), ), D)

(
) (), (D), (4), ©)
)

(2 (@A
() (8) (E) (D
@) (&), 6) @) © D)

Yy

Options :

878270155753. 1
878270155754. 2
878270155755. 3

878270155756. 4

Question Number : 130 Question Id : 87827039646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following legislalions from earl_v one to more recent one year wise :
(A) The Scheduled Tribes and other Traditional Forest Dwellers (Recognition of Forest Rights)
Act

(B) Panchayati Extension to Scheduled Areas (PESA) Act
(C) SCand ST (Prevention of Atrocities) Act

(D) The Right to Fair Compensation and Transparency in Land Acquisition and Rehabilitation
Act (RFCTLARR)

(E) Land Acquisition Act
Choose the correct answer from the options giuen below :

() (€, () (B) (4), D)
(@ (©) (&) (A), {), D)
(3 () (© (A), @) D)
(@ () (©, (®) (4), D)
Options:

878270155757. 1
878270155758. 2
878270155759. 3

878270155760. 4

Question Number : 130 Question Id : 87827039646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feeffign sl =1 7 ety o o STeR W afeam § S 9 § SFafem Fh

(A) ST AN S 7 TR Sl (S e ot w) s

(B) Sl & e T fawm (F 3 @ Q)

(C) gl I Ao SFAgfe St & 9 S fam sfufam

(D) W SRRy, TG S TRATTA # 3 Yo AR W A S (o W A w0
4R & )

(E) ¥-anferren aHfefm

el e T foehedl § ¥ WE SR H T I

() © () (©) (4) ©)

@ © () (@) 6) [0)
) @, () (A), B) 0)
@) (), () ®) (@A) D)

Options :

y

878270155757. 1
878270155758. 2
878270155759. 3
878270155760. 4

Question Number : 131 Question Id : 87827039647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the order of quest'ums to be asked while cnnducting an interview :
A) Factual question
B

(
(
(C) Opinion questions
(
(

L

Sensitive/controversial questions

D) Interest creation questions
E) 'Did we miss something’ type questions
Choose the correct answer from the options given below :

L) E) (A), ©) B) O

2) D) (4), ©), (B), (E)
@) (4) (O, D) (B) (E)
(4) (A) (O, (B), D) (E)
Options:

878270155761. 1
878270155762. 2
878270155763. 3

878270155764. 4

Question Number : 131 Question Id : 87827039647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT o G Y& ST 9ol Y91 1 Tel 560 o sHafted Hifa
(A) dCHE Y9

(B) HegTirel/foemerers yv4

(C) HHT 9

(D) #FER-S= 9

(E) ‘=N & i fos SIS ¢ WPR & WA

1= feu U fomedi § | & I 999 BT

(D ), (A), ([©), (B), (D)

(2 D) (A), (©), (B), (E)

)
() (A), (©), (D), (B), (E)
4) (A) (Q), B), (D) (E)



Options :

878270155761. 1
878270155762. 2
878270155763. 3
878270155764. 4

Question Number : 132 Question Id : 87827039648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following books in the order of the year of publication :
(A) Political Systems of Highland Burma

(B) Argonauts of the Western Pacific

(C) Elements of Social Organizations

(D) The Nuer

(E) Structure and Function in Primitive Society

Choose the correct answer from the options given below :

(1) (B, (D) (A), (O (E)

2 (A) (©), (B), (), (D)
(3)  (©), (E) (D), (B), (A)
4) (B), (D) (C), (E), (A)
Options:

878270155765. 1
878270155766. 2
878270155767. 3

878270155768. 4

Question Number : 132 Question Id : 87827039648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feifere qXaehl @ 3Tk UEIYE 99 & SR W %9 orafied Fife

(A) Uifafera fowem s grce sl

(B) UIMICH 3% § 9% Ufafes

(C) TUEiZg 1w Jeret ARSI

(D) TN

(E) &R U0 HRH 31 HiHifea dame

el feu o fasmed # 9§ W& SR =99 i

(1)  (B), (D), (A), (C), (E)

2 (A), (O, (B), (E), (D)

(3) (©), (E) (D), (B), (A)

4) (B), (D), (Q), (E), (A)
Options:
878270155765. 1
878270155766. 2
878270155767. 3

878270155768. 4

Question Number : 133 Question Id : 87827039649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the [U]lowing, starting from the state having the highest scheduled tribe populaljnns to
the state with the lowest scheduled tribe populaiions as per 2011 Census.

(A) Gujarat
) Odisha

)

D) Rajasthan

) Madhya Pradesh

Choose the correct answer from the options given below :
0 ) ©) @) B 6

O ® () ®) 0,0
() (), (€ (A) D) E
() (), (D), (A), () E)

(B

(C) Maharastra
(

(E

(
(
(



Options :

878270155769. 1
878270155770. 2
878270155771.3

878270155772. 4

Question Number : 133 Question Id : 87827039649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

o 2011 1 FVAI % AR SG( ST 1 SAeRan THE o T4 § o ST S
] T SEH o T o SR T FefeRd T 1 g it ;

(4) T

(B) GE.W

@
D) Ve
E) 09 o

A1 g T feereet o 8 W R A T A

1) (D) (C) (A) (B), £
2) (E),(C) (8) (D) (4)
3) ), (C) (4), D) £
4) (8 (D) (4), (C)

©
(
(

(
(
(
(
Options :

878270155769. 1
878270155770. 2

878270155771.3

878270155772. 4

Question Number : 134 Question Id : 87827039650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

ldenlj_[}f the chronological succession of tool types in Prehistoric culture :
(A) Choppers

(B) Micro burins

(C) Bits and cheek pieces

(D) Bone points

(E) Cleavers

Choose the correct answer from the options b” en below :

(1) (A), (D), (©), (E), (B)
(2) (A), (E), D), (B) (C)
(3)  (E), (B) (A), (D) (O
4)  (E), (D), (©), (B), (A)
Options :

878270155773. 1
878270155774. 2
878270155775. 3

878270155776. 4

Question Number : 134 Question Id : 87827039650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



yrifaerfae epfa ¥ ggaa oierR & e o9y &1 fagifea i .
(A) AR

(B) WIEshl

(C) fozq e < 9Ha

(D) M @mEZH

(E) oo™

A9 fau U fosredl | | Wel ST 1 99 Fif ;
(1) (A) (D), (©), (E), (B)

2  (A) (E), (D), (B), (C)

(3) (E), (B). (4), (D), (C)

4) (E), (D), (C), (B), (A)

Options:

878270155773. 1
878270155774. 2
878270155775. 3

878270155776. 4

Question Number : 135 Question Id : 87827039651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The correct sequen[ial order of genlogical epnchs from the earliest to the latest :
Anl‘hmpocene

(A)
(B) Eocene
(C) Holocene
(D) Oligocene
(E) Pleistocene
Choose the correct answer from the options given below :
1) (A)(©, ®, @) 0)

(2) (D), (B) (C), (A), (B)
(3) (B). (D) (E), (©), (A)
(4) (O, (B), (A), (E). (D)

!



Options :

878270155777. 1
878270155778. 2
878270155779. 3

878270155780. 4

Question Number : 135 Question Id : 87827039651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
g U ok SATRH hl SAMfead ¥ Yferad s | sefer Hifsg
(A) T
(B) ST
©) " s o
(D) FferE
() ferergs
A feu 7o forredi § 9 WE& ST 1 = HW
(1) (A), (O, E), B), D)
(2 (D), (E), (O), (A), (B)
(3) (B), (D), (B), (C), (A)
4)  (©), (B), (A), (B), (D)
Options:
878270155777. 1
878270155778. 2
878270155779. 3
878270155780. 4

Question Number : 136 Question Id : 87827039652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The evidences of early domestication of plants and animals had taken place in
the Mesopotamia region of West Asia

Reason (R):  The flora and fauna together, the then prevailing palaeo-ecological condition
during the initial stages of Halocene period were congenial for early farming as
evidenced at Jericho, Jarmo and Catalhdyiik archaeological sites

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270155781. 1

878270155782. 2

878270155783. 3

878270155784. 4

Question Number : 136 Question Id : 87827039652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 Fo fou T E o v (Assertion A]%Wﬁﬁf@ﬁ%ﬂ‘lgﬂﬂmwmeasuﬂ R]'gnr
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(1) (A) 3 (R) <1 561 & 4R (R), (A) 3 Wl A §

) (A) 4R (R) T W 2, R (R), (A) F T A G &

(

(3) (A) T & oo (R) TR T €

() (A) T TR R) T
Options :

878270155781. 1
878270155782. 2
878270155783. 3

878270155784. 4

Question Number : 137 Question Id : 87827039653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : ]. M. Tanner identified what is known as ‘Secular trend" in the growth of children
and adolescents during the 19™ and 20t centuries

Reason (R):  ]. M. Tanner observed the trend of increase in height at all ages, particularly in
adolscence and earlier sexual maturation in western Eumpe and USA that began
in earl}f 1800s and continued to the middle of the 20t century

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270155785. 1

878270155786. 2

878270155787. 3

878270155788. 4

Question Number : 137 Question Id : 87827039653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 Fo fou T E o v (Assertion A) F & i frfga 4 FRl T HIW (Reason R) F

wA g

RO (A) : ST, R 319 3 &R 20 Ff v § o o Fri # SR d2 A wemm A o

FOR): ST R oo & o fF S () 79 F g wh o H fo w9
opyTrrereen o SR WYl 700 S e T peefen W arfireh eifies wftuse 1
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(1) (A) 3 (R) <1 5 & 4 (R), (A) 3 Wl A §

() (A) SR (R) SHI 56 &, A (R), (A) F T e TE &

() (A) & oo (R) §E Tl €

(4) (A) T T @ e (R) TR &

Options:

878270155785. 1
878270155786. 2
878270155787. 3

878270155788. 4

Question Number : 138 Question Id : 87827039654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The symbolic coding of food has been elaborated to a high degree, especially in
the second half of the twentieth century, when the development of global food
cultures and systems of food retail and marketing accelerated.

Reason (R):  For nutritional anthropologists, understanding of deep social embeddedness as a
symbolic good helps to determine how nutritional health is produced in relation
to modern food system, where symbolic value is an important issue for food
management and marketing

In the light of the above statements, choose the most appropriate answer from the options given
below

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

878270155789. 1

878270155790. 2

878270155791. 3

878270155792. 4

Question Number : 138 Question Id : 87827039654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 Fo fou T E o v (Assertion A) F & i frfga 4 (Gl T HIW (Reason R) F

ke

HHR (A) : TR F Wikl Fea A FE forde & § el 99 & fod 30 § a0 w
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(1) (A) 3T (R) < 5& & 4R (R), (A) 3 ¥l o2 &

() (A) 4R (R) S T & A (R), (A) F T8 A TE &

() (A) T € oo (R) ¥ Tl ¢

(4) (AT R R) T E

Options:

878270155789. 1
878270155790. 2
878270155791. 3
878270155792. 4

Question Number : 139 Question Id : 87827039655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Globalization process includes transnational flow of goods, people, ideas and
practices. There has been a significant increase in international migration. The
possibility of the cultural homogenization has been pointed at.

Statement (II) : In the wake of globalization forces, there has been assertion of local cultures in
the form of various movements. Identity assertion is very much there. Globalization
process has been pointed. Restriction on visas and work permits come in the way
of infernational migrations

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options:

878270155793. 1

878270155794. 2

878270155795. 3

878270155796. 4

Question Number : 139 Question Id : 87827039655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) FORIMFRNT T 8
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(4) O ITER ¢, A RO €

Options :

878270155793. 1

878270155794. 2

878270155795. 3

878270155796. 4

Question Number : 140 Question Id : 87827039656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : There is an association between blood group types and genetic diseases

Statement (II) : The association between blood group types and genetic diseases is an example of
linkage.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

3

4) Statement I is incorrect but Statement II is correct

2)  Both Statement I and Statement II are incorrect

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270155797. 1
878270155798. 2
878270155799. 3
878270155800. 4

Question Number : 140 Question Id : 87827039656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el 9 s fegmu €

FF (1) T T8 & TN SR A W F 07 Gaga & ¢

HI (1) : T T F W SR AR T F 764 Yeder qed () # T
IR o o el |, i e 0 formedi § § Had TR I 7 o

(1) U &R F 1 T &
(2) YT LR H I EH o €
(3) UTIHEI &, Wil e 1T §
(4) YT 1T & T HIR TR €
Options:

878270155797. 1
878270155798. 2
878270155799. 3

878270155800. 4

Sub-Section Number : 2
Sub-Section Id : 8782701663
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039657 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage and answer the questions :

The remains of Homo erectus have been found at several sites in Africa, Europe, China and Java.
The earliest is 1-8 million years old, and the species endured until around 400,000 years ago, by which
time fossils exhibit a mosaic of features characteristics of both Homo erectus and Homo sapiens. It appears
to have evolved, rather abruptly, from Hommo habilis. From the neck on down the body of Homo erectus
was essentially modern in appearance. The brain, although small by modern standards, was larger that
that of Homo habilis. The skull was generally low, with maximum breadth near its base, and massive
brow ridges. Powerful teeth and jaws added to a general rugged appearence. With Homo erectus, we
find a greater interaction among the cultural, physical and environmental factors than ever before.

The sign of Homoerectus developing technology was the selection of different stone for different
tools and the use of fires for protection, warmth, light, thawing frozen carcasses and cooking. Cooking
is a significant cultural adaptation because it took the place of certain physical adaptations such as large
heavy jaws and teeth, since cooked food is easier to chew. From France, we get evidence of the building
of huts and making nonutilatariunartifacts by Homo erectus and from Spain comes evidence of cooperative
efforts to kill large amounts of game.

Homo erechis 'memved organizatinnal, tedumlngical and communicative abilities led to more
effective hunt‘ing and greater abiJit_V to moclif'v environment in advantageous ways. As a result, this
group of hominins increased in number and Expancled spatially.

Sub questions

Question Number : 141 Question Id : 87827039658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following did not help Homo erechus in expanding their spatial base ?
(1)  Use of diversified stone tools and improved technology

(2) Effective hunting ability

(3) Greater ability to modify environment in advantageous way

(4) Numerical increase

Options:

878270155801. 1

878270155802. 2

878270155803. 3



878270155804. 4

Question Number : 142 Question Id : 87827039659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not appropriate in justifying the survival of Homo erectus for a prolonged
period of time ?
(1) Discovery of fire
reater interaction with cultural, physical and environmental factors
2)  Greater interaction with cultural, physical and tal fact
(3) Improved organizational ability
(4)  Development of physical characteristics
Options :
878270155805. 1
878270155806. 2
878270155807. 3

878270155808. 4

Question Number : 143 Question Id : 87827039660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The evidence of building of huts by Homo erectus comes from :

(1) China

(2) Java

(3) South Africa

(4) France
Options:

8782701558009. 1
878270155810. 2
878270155811. 3

878270155812. 4



Question Number : 144 Question Id : 87827039661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following characteristics is not typical of Homo erectus ?
(1) Powerful teeth and jaws

(2)  Skull was generally low, with maximum breadth near its base
(3) Massive brow ridges
(4) Large cranial capacity

Options :

878270155813. 1
878270155814. 2
878270155815. 3

878270155816. 4

Question Number : 145 Question Id : 87827039662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Homo erectus perhaps abruptly appeared from :

(1) Australopithecus afarensis

(2)  Australopithecus africanus

)
(3) Homo habilis
(4)

Australo p:' thecus robustus

Options :

878270155817. 1
878270155818. 2
878270155819. 3
878270155820. 4

Question Id : 87827039657 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827039658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frferfaa § 9 @ g4 Caeq & o wefies 2w ot faeian w0 o weos 7 a2
(1) fafemmel g & Sueon &R Sea el & 39

(2) 9El RreRR &

(3) NG F YIS Tk ¥ T SFA Urarda

(4) eI g

Options:



878270155801. 1
878270155802. 2
878270155803. 3

878270155804. 4

Question Number : 142 Question Id : 87827039659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
i o & 3 1 e o U T @) Ta S SR o R eM B S Tl ¢
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) R TS
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Options :

878270155805. 1

878270155806. 2

878270155807. 3

878270155808. 4

Question Number : 143 Question Id : 87827039660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B WY g girafedt & fmfor = e w8 9 ure e R

(1) =M
(2) SfE
(3) =faror TR
(4) wiH

Options :



8782701558009. 1
878270155810. 2
878270155811. 3

878270155812. 4

Question Number : 144 Question Id : 87827039661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frefafiga o | H 9t g7 waey =i fadrar 78 € ?
(1) vfeered gfd 3R sfoe

(2) IS WA A= o S ST STMR %k 9 SAfeeRan Arel o
(3) faemer iR

(4) 8% AiETSR gHdl

Options :

878270155813. 1
878270155814. 2
878270155815. 3
878270155816. 4

Question Number : 145 Question Id : 87827039662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el WY Haq: 3= frad 2= g ?
(1) sieafufary sy

(2) ATLaTareeRy ARy
(3) =Ml effad
(4) FELATIIRE Ta2H

Options :



878270155817. 1
878270155818. 2
878270155819. 3

878270155820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701664
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039663 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following passage and answer the questions :

Not only animal and plant species are endangered; many peoples and their languages are too. In
the last few hundred years, and continuing in some places today, Western expansion and colonization
have led to the depopulation and extinction of many native societies, mainly as a result of introduced
diseases and campaigns of extermination. Thus many languages disappeared with the peoples that
spoke them. More than 50 aboriginal languages in Australia of approximately 200, disappeared relatively
quickly as a result of massacre and diseases.

Today native lanbuages are endangered more by the fact that they are not being passed on to
children, Political and economic dominance by speakers of Western languages undoubtedly play an
enormous role in this process. First, schooling is usually conducted in the dominant language. Second
when another culture is dominant, the children themselves may prefer to speak in the language perceived
to have higher prestige; indeed, parents sometimes encourage this tendency. Almost all the languages of
aboriginal Australia are now gone, This is a world wide trend. Michael Krauss, a linguist who tracks
disappearing languages, estimates that 90 percent of the world's languages are endangered. Here is
another example : only 2 of the 20 native Alaskan languages are currently being taught to children, who

therefore speak English only.

Sub questions

Question Number : 146 Question Id : 87827039664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

According to Michael Krauss's estimate percent of worlds languages are endangered.
(1) 90

(2) 80

(3) 70

(4)

Options :
878270155821. 1
878270155822. 2
878270155823. 3

878270155824. 4

Question Number : 147 Question Id : 87827039665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main reason for the extinction of several languages was due to :
(I) Westernization and Modernization

(2) Westernization and Sanskritization
(3) Western expansion and Colonization
(4) Epidemics, wars, famine and genocide
Options :

878270155825. 1
878270155826. 2
878270155827. 3

878270155828. 4

Question Number : 148 Question Id : 87827039666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Two out of the 20 native languages are currently being taught in :
(1) Australia

(2) Alaska
(3) Albania
(4) Austria
Options:

878270155829. 1
878270155830. 2
878270155831. 3

878270155832. 4

Question Number : 149 Question Id : 87827039667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How many aboriginal languages have dissapeared in Australia ?

(1) 200

(2) 100
(3) 50
(4) 20
Options :

878270155833. 1
878270155834. 2
878270155835. 3

878270155836. 4

Question Number : 150 Question Id : 87827039668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The native languages are endangered due to :

(1) People inclined to learn foreign languages

(2) Native language is not being passed on to the children
(3) Native language is being taught in schools

(4) Fascination towards local dialects

Options:

878270155837. 1
878270155838. 2
878270155839. 3

878270155840. 4

Question Id : 87827039663 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions



Question Number : 146 Question Id : 87827039664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 90
(2) 80
(3) 70
(4) 20
Options :

878270155821. 1
878270155822. 2
878270155823. 3

878270155824. 4

Question Number : 147 Question Id : 87827039665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
agd °f yrmeti % faera e 1 R o
(1) OfveieRTo 3 SATfehiR ol
(2) AfyeETERTT IR GEpfae
(3) ufe=H faear iR Sufesier
(4) WHEMHI, I3, 3T R ATHR
Options :
878270155825. 1
878270155826. 2
878270155827. 3

878270155828. 4

Question Number : 148 Question Id : 87827039666 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

20 et el H | & v 39 gy fefafed e W uer 1@

(1) srefem
(2) STATEH
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(4) e
Options :

878270155829. 1
878270155830. 2
878270155831. 3

878270155832. 4

Question Number : 149 Question Id : 87827039667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sreferan § fepart gat o faeqa &1 7 €2

(1) 200
(2) 100
(3) 50
(4) 20
Options :

878270155833. 1
878270155834. 2
878270155835. 3

878270155836. 4

Question Number : 150 Question Id : 87827039668 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freifetfiad R & s sTart e 2 T ¥
(1) < foeel wreisdi =t e & 9fd 3773 gU
(2) afen wmrd a= 1 TR wEAE @ e

(3)  anfem ur, el § e o W 8

(4) T el F gfa geed

Options :

878270155837. 1
878270155838. 2
878270155839. 3
878270155840. 4



